College: ST. PETERSBURG COLLEGE

Survey: Number 2 - Version 1
Survey Status: Active Approved



PAGE:1 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 1: Survey Details

PAGE:2 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

727-341-3338

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

College: ST. PETERSBURG COLLEGE

Survey: Number 2 - Version 1

Description: New Five Year Educational Plant Survey

Survey Open Date: 3/21/2017 2:14:43 PM

Board Approval Date: 5/16/2017
Survey Expiration Date: 6/30/2022
DVE768 Approval Date: 5/4/2017
Contact Name: Bea Steele

Contact Phone Number:

Contact Email: steele.bea@spcollege.edu

Su	rvey Status	Status Time	User
Ac	ctive Approved	6/30/2017 9:58:21 AM	Bea Steele

PAGE:3 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EPICENTER - The survey recommends more non-vocational student stations than allowed; survey recommendations for non-vocational student stations should be revised before submitting the survey

CLEARWATER CAMPUS - The survey recommends more general classroom student stations than allowed; survey recommendations for general classroom student stations should be revised before submitting the survey.

ST PETERSBURG/GIBBS - The survey recommends more general classroom student stations than allowed; survey recommendations for general classroom student stations should be revised before submitting the survey.

ST PETERSBURG/GIBBS - The survey recommends more non-vocational student stations than allowed; survey recommendations for non-vocational student stations should be revised before submitting the survey

ST PETERSBURG/GIBBS; Auxiliary Space: Support Services - The square footage recommended exceeds the square footage allowed by SREF.

ST PETERSBURG/GIBBS; Auxiliary Space: Circulation - The square footage recommended exceeds the square footage allowed by SREF.

TARPON SPRINGS CAMPU - The survey recommends more general classroom student stations than allowed; survey recommendations for general classroom student stations should be revised before submitting the survey.

HEALTH EDUCATION CEN - The survey recommends more vocational student stations than allowed; survey recommendations for vocational student stations should be revised before submitting the survey.

HEALTH EDUCATION CEN; Auxiliary Space: Audiovisual - The square footage recommended exceeds the square footage allowed by SREF.

HEALTH EDUCATION CEN; Auxiliary Space: Support Services - The square footage recommended exceeds the square footage allowed by SREF.

ALLSTATE CENTER - The survey recommends more vocational student stations than allowed; survey recommendations for vocational student stations should be revised before submitting the survey.

DOWNTOWN CENTER - The survey recommends more general classroom student stations than allowed; survey recommendations for general classroom student stations should be revised before submitting the survey.

DOWNTOWN CENTER; Auxiliary Space: Audiovisual - The square footage recommended exceeds the square footage allowed by SREF.

MIDTOWN CENTER - The survey recommends more general classroom student stations than allowed; survey recommendations for general classroom student stations should be revised before submitting the survey.

There are PPL projects from the previous survey that are not under contract or marked as complete. Resolve any outstanding PPL projects by marking them as complete or remove them from funding. PPL number: 1

Master Plan update on file: Yes

The following local governments have received a copy of the college's educational plant survey pursuant to Chapter 1013 Florida Statutes:

PAGE:4 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Survey Notes : None Entered

Site Notes for: EPICENTER

PAGE:5 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 2: Survey Cost Summary

PAGE:6 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

RECOMMENDATIONS FOR EDUCATIONAL PLANTS

ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Date: 6/30/2017 10:12:31 AM

The educational plant survey is a systematic study of present educational and ancillary plants and the determination of future needs. The survey is not directly concerned with the instructional program but the relationship of educational plants to the instructional program is such that judgments regarding the instructional program are necessarily a part of an educational plant survey.

The construction, remodeling, and renovation of educational facilities is a major undertaking. The educational plant survey aids in formulating plans for housing the educational activities of students and staff of the community college for the next several years and the survey considers the local comprehensive plan in its forecast strategies. This plan represents a careful study of all available data regarding the status of educational and ancillary facilities in relation to capital outlay full-time equivalency (COFTE) student membership and the projected changes in COFTE student membership. The intent of this educational plant survey is to ensure the thoughtful, orderly development of a program for providing educational and ancillary plants to house the educational and academic support activities of the college.

The recommendations in this educational plant survey furnish the foundation for a five-year plan for educational plants adopted by the Board of Trustees in accordance with §1013.31, Florida Statutes. Similarly, the recommendations serve as the basis for the proposed building program with projects listed in the order of priority submitted pursuant to State Requirements for Educational Facilities §2.1(5).

Educational plant survey cost estimates are determined based on cost factors that are 31 months (January, the midway point of the five-year survey period) from the official beginning of the survey period, which is July 1 of the first full year of the survey. The cost per square foot for new construction, remodeling, and renovation is based on actual statewide average construction cost data with a cost index increase applied to use the mid-point of the survey costs for planning purposes. The cost estimate process applies uniformly to all surveys in all colleges so that consistent planning can be made on a statewide basis.

Cost estimates for educational plant survey recommendations provide a general idea of anticipated costs and should not be interpreted as accurate estimates for particular projects. When educational plant survey recommendations become specific projects, professionals who can estimate the actual project costs based on current construction information must prepare the estimates.

The following table is a summary of square foot rates and cost estimates for the community college educational plant survey recommendations:

Recommendation Category	Cost per Square Foot	Estimated Cost		
New Construction	270.00	59,230,440.00		
Remodeling	135.26	8,756,640.00		
Renovation	90.00	92,610.00		
Site Recommendations		25,745,000.00		
Estimated Total Survey Recommendation Cost		93,824,690.00		

In addition, the educational plant survey provides six standard recommendations for college-wide application, as needed. The standard survey recommendations address general categories of physical plant needs that are likely to occur over time. No cost estimates are included for the standard survey recommendations.

PAGE:7 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1

Status:

rvey: 2 Version: 1 Active Approved

Section 3: Expenditures By Project Type

PAGE:8 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

FUND EXPENDITURES BY PROJECT TYPE

Site: BAY PINES CENTER

Site Number: 6

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: ST PETERSBURG/GIBBS

Site Number: 3

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	2,500,000	0	0	0	2,500,000
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	3,896,640	0	0	0	3,896,640
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	6,396,640	0	0	0	6,396,640

Site: ALLSTATE CENTER

Site Number: 9

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0

PAGE:9 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: ALLSTATE CENTER

Site Number: 9

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: CLEARWATER CAMPUS

Site Number: 2

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: DOWNTOWN CENTER

Site Number: 15

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	2,044,710	0	0	0	0	2,044,710
Furniture And Equipment	0	0	0	0	0	0

PAGE:10 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: DOWNTOWN CENTER

Site Number: 15

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Remodeling, Renovation, Maintenance And Repair	92,610	0	0	0	0	92,610
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0

Grand Total: 2,137,320 0 0 0 0 2,137,320

Site : EPICENTER
Site Number : 1

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: FIRE TRAINING CENTER

Site Number: 17

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0

PAGE:11 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: FIRE TRAINING CENTER

Site Number: 17

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: MIDTOWN CENTER

Site Number: 16

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: SEMINOLE CAMPUS

Site Number: 4

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0

PAGE:12 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: SEMINOLE CAMPUS

Site Number: 4

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: VETERINARY TECHNOLOG

Site Number: 18

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	0	0	0	0
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: HEALTH EDUCATION CEN

Site Number: 8

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	2,302,936	0	3,907,903	0	0	6,210,839
Land Acquisition	0	0	0	0	0	0
Building Construction	0	20,726,432	0	31,263,231	0	51,989,663
Furniture And Equipment	0	0	0	0	3,907,903	3,907,903
Remodeling, Renovation, Maintenance And Repair	0	0	2,621,653	0	0	2,621,653
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0

Grand Total: 2,302,936 20,726,432 6,529,556 31,263,231 3,907,903 64,730,058

PAGE:13 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

Site: TARPON SPRINGS CAMPU

Site Number: 5

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Planning	0	0	0	0	0	0
Land Acquisition	0	0	0	0	0	0
Building Construction	0	0	11,828,430	0	0	11,828,430
Furniture And Equipment	0	0	0	0	0	0
Remodeling, Renovation, Maintenance And Repair	0	0	0	0	0	0
Other Structures & Improvements	0	0	0	0	0	0
Library Books And Films	0	0	0	0	0	0

Grand Total: 0 11,828,430 0 11,828,430

Report Run : 6/30/2017 10:12:29 AM

PAGE:14 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 4: Expenditures By Fund Source

PAGE:15 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

FUND EXPENDITURES BY FUND SOURCE

Site : EPICENTER
Site Number : 1

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbestos	0	0	0	0	0	0
New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: CLEARWATER CAMPUS

Site Number · 2

Site Number . 2						
Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0

PAGE:16 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Grand Total :	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	С
Local Funds	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
New Construction	0	0	0	0	0	0
Removal Of Asbestos	0	0	0	0	0	0

Grand Total: 0 0 0 0 0 0

Site: ST PETERSBURG/GIBBS

Site Number: 3

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	3,896,640	0	0	0	0	3,896,640
Removal Of Asbestos	0	0	0	0	0	0
New Construction	2,500,000	0	0	0	0	2,500,000
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total :	6,396,640	0	0	0	0	6,396,640

PAGE:17 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: SEMINOLE CAMPUS

Site Number: 4

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbestos	0	0	0	0	0	0
New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: TARPON SPRINGS CAMPU

Site Number: 5

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbest	0	0	0	0	0	0

PAGE:18 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

	•	•	11 000 100	•	•	11 000 100
Student Capital Fee	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
New Construction	0	0	11,828,430	0	0	11,828,430

Grand Total: 0 0 11,828,430 0 0 11,828,430

Site: BAY PINES CENTER

Site Number: 6

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbestos	0	0	0	0	0	0
New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

PAGE:19 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: HEALTH EDUCATION CEN

Site Number: 8

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	2,621,653	0	0	2,621,653
Removal Of Asbestos	0	0	0	0	0	0
New Construction	2,302,936	20,726,432	3,907,903	31,263,231	3,907,903	62,108,405
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Crond Total	2 202 024	20 724 422	4 E20 EE4	21 242 221	2 007 002	44 720 0E0

Grand Total: 2,302,936 20,726,432 6,529,556 31,263,231 3,907,903 64,730,058

Site: ALLSTATE CENTER

Site Number: 9

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbest	0	0	0	0	0	0

PAGE:20 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total:	0	0	0	0	0	0

Grand Total:

Site: DOWNTOWN CENTER

Site Number: 15

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	(
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	(
State General Revenue	0	0	0	0	0	C
Remodeling/Renov ation, Maint./Repair, and Site Improvement	92,610	0	0	0	0	92,610
Removal Of Asbestos	0	0	0	0	0	C
New Construction	2,044,710	0	0	0	0	2,044,710
Library, Books and Films	0	0	0	0	0	(
Correction Of Fire Safety Deficiencies	0	0	0	0	0	C
Modification For Physically Handicapped	0	0	0	0	0	(
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	(
Local Funds	0	0	0	0	0	(
Student Capital Fee	0	0	0	0	0	(
Grand Total :	2,137,320	0	0	0	0	2,137,320

PAGE:21 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Site: MIDTOWN CENTER

Site Number: 16

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbestos	0	0	0	0	0	0
New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Site: FIRE TRAINING CENTER

Site Number: 17

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbest	0	0	0	0	0	0

PAGE:22 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total ·	0	0	0	0	0	0

Grand Total: 0 0 0 0 0

Site: VETERINARY TECHNOLOG

Site Number: 18

Fund Name	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022	5 Year Total
Revenue Flowthrough And Interest	0	0	0	0	0	0
Bond Proceeds, SBE Capital Outlay Bonds	0	0	0	0	0	0
State General Revenue	0	0	0	0	0	0
Remodeling/Renov ation, Maint./Repair, and Site Improvement	0	0	0	0	0	0
Removal Of Asbestos	0	0	0	0	0	0
New Construction	0	0	0	0	0	0
Library, Books and Films	0	0	0	0	0	0
Correction Of Fire Safety Deficiencies	0	0	0	0	0	0
Modification For Physically Handicapped	0	0	0	0	0	0
Correction of Safety-To-Life Deficiencies	0	0	0	0	0	0
Local Funds	0	0	0	0	0	0
Student Capital Fee	0	0	0	0	0	0
Grand Total :	0	0	0	0	0	0

Report Run: 6/30/2017 10:12:29

AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PAGE:24 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 5: Capital Outlay Bonds

PAGE:25 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Schedule of State Board of Education Bond Issues and Debt Requirements

Year	Name Of Issue	Series Of Issue	Amount Of Issue	Unretired Principle 7/1/2017	Debt Service Obligation 7/1/2017 Thru 6/30/2022	Unretired Principle 7/1/2022
2009	2009-A	Α	2,400,000	855,000	585,000	585,000
2010	2010-A	А	1,645,000	1,540,000	375,000	1,495,000

Totals: 4,045,000 2,395,000 960,000 2,080,000

PAGE:26 of 115 Report Date: 6/30/2017 10:12:29 AM

Status:

College: Survey:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Section 6: COFTE Projections

PAGE:27 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: EPICENTER

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	455	444	431	418	404	391
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	455	444	431	418	404	391
VOCATIONAL FTE						
Annual FTE:	216	210	204	198	191	185
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	216	210	204	198	191	185
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	671	654	635	616	595	576

PAGE:28 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: DOWNTOWN CENTER

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	651	634	616	597	578	559
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	651	634	616	597	578	559
VOCATIONAL FTE						
Annual FTE:	151	147	143	139	134	130
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	151	147	143	139	134	130
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	802	781	759	736	712	689

PAGE:29 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: MIDTOWN CENTER

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	199	194	188	182	176	171
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	199	194	188	182	176	171
VOCATIONAL FTE						
Annual FTE:	48	47	46	44	43	42
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	48	47	46	44	43	42
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	247	241	234	226	219	213

PAGE:30 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: FIRE TRAINING CENTER

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	0	0	0	0	0	0
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	0	0	0	0	0	0
VOCATIONAL FTE						
Annual FTE:	0	0	0	0	0	0
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	0	0	0	0	0	0
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	0	0	0	0	0	0

PAGE:31 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE
CAMPUS: VETERINARY TECHNOLOG
SURVEY: 2 Version: 1

Adjusted Annual FTE:

2017 - 2018 **ITEM** 2016 - 2017 2018 - 2019 2019 - 2020 2020 - 2021 2021 - 2022 **NON-VOCATIONAL FTE** Annual FTE: +/- FTE : **Adjusted Annual FTE: VOCATIONAL FTE** Annual FTE: +/- FTE:

TOTAL CAPITAL OUTLAY 251 244 237 230 222 216 FTE PROJECTIONS:

PAGE:32 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: CLEARWATER CAMPUS

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	3,214	3,133	3,041	2,946	2,852	2,761
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	3,214	3,133	3,041	2,946	2,852	2,761
VOCATIONAL FTE						
Annual FTE:	1,035	1,007	978	947	917	887
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	1,035	1,007	978	947	917	887
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	4,249	4,140	4,019	3,893	3,769	3,648

PAGE:33 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: ST PETERSBURG/GIBBS

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	2,591	2,526	2,453	2,377	2,301	2,226
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	2,591	2,526	2,453	2,377	2,301	2,226
VOCATIONAL FTE						
Annual FTE:	843	820	796	771	747	722
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	843	820	796	771	747	722
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	3,434	3,346	3,249	3,148	3,048	2,948

PAGE:34 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: SEMINOLE CAMPUS

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	4,260	4,126	3,999	3,868	3,739	3,612
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	4,260	4,126	3,999	3,868	3,739	3,612
VOCATIONAL FTE						
Annual FTE:	769	730	705	680	654	629
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	769	730	705	680	654	629
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	5,029	4,856	4,704	4,548	4,393	4,241

PAGE:35 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE **CAMPUS**: TARPON SPRINGS CAMPU

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	2,390	2,331	2,263	2,191	2,122	2,053
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	2,390	2,331	2,263	2,191	2,122	2,053
VOCATIONAL FTE						
Annual FTE:	366	356	346	335	324	314
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	366	356	346	335	324	314
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	2,756	2,687	2,609	2,526	2,446	2,367

PAGE:36 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: BAY PINES CENTER

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	24	28	33	38	43	48
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	24	28	33	38	43	48
VOCATIONAL FTE						
Annual FTE:	0	18	21	24	27	30
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	0	18	21	24	27	30
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	24	46	54	62	70	78

PAGE:37 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE **CAMPUS:** HEALTH EDUCATION CEN

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	662	645	626	606	587	568
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	662	645	626	606	587	568
VOCATIONAL FTE						
Annual FTE:	1,106	1,076	1,045	1,012	980	948
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	1,106	1,076	1,045	1,012	980	948
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	1,768	1,721	1,671	1,618	1,567	1,516

PAGE:38 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: ALLSTATE CENTER

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	222	217	210	204	197	191
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	222	217	210	204	197	191
VOCATIONAL FTE						
Annual FTE:	493	480	466	452	438	424
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	493	480	466	452	438	424
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	715	697	676	656	635	615

PAGE:39 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COFTE REPORT

COLLEGE: ST. PETERSBURG COLLEGE

CAMPUS: College Wide

SURVEY: 2 Version: 1

ITEM	2016 - 2017	2017 - 2018	2018 - 2019	2019 - 2020	2020 - 2021	2021 - 2022
NON-VOCATIONAL FTE						
Annual FTE :	14,717	14,325	13,906	13,472	13,042	12,622
+/- FTE :	0	0	0	0	0	0
Adjusted Annual FTE:	14,717	14,325	13,906	13,472	13,042	12,622
VOCATIONAL FTE						
Annual FTE:	5,229	5,088	4,941	4,787	4,634	4,485
+/- FTE:	0	0	0	0	0	0
Adjusted Annual FTE:	5,229	5,088	4,941	4,787	4,634	4,485
TOTAL CAPITAL OUTLAY FTE PROJECTIONS:	19,946	19,413	18,847	18,259	17,676	17,107

PAGE:40 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 7: Summary of Satisfactory Student Stations

PAGE:41 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 1

Site Name: EPICENTER

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	576	391	185
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	288	98	93
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	288	128	140
Program Facilities List (Under)/Over	0	30	48
INVENTORY:			
Student Stations :			
Existing	197	177	129
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	197	177	129
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	394	708	258
2021 - 2022 Out Year CO-FTE	576	391	185
COFTE Survey Plan (Under)/Over	-182	317	73

Total UnSatisfactory Student Stations : 126

PAGE:42 of 115 Report Date: 6/30/2017 10:12:29 AM

NON-VOCATIONAL

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

GENERAL

Site Number: 2

Site Name: **CLEARWATER CAMPUS**

SPACE CATEGORY	CLASSROOMS	LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	3,648	2,761	887
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	1,824	690	444
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	1,800	479	130
Program Facilities List (Under)/Over	-24	-211	-314
INVENTORY:			
Student Stations :			
Existing	2,358	702	216
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	2,358	702	216
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	4,716	2,808	432
2021 - 2022 Out Year CO-FTE	3,648	2,761	887
COFTE Survey Plan (Under)/Over	1,068	47	-455

Total UnSatisfactory Student Stations: 126

PAGE:43 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 3

Site Name: ST PETERSBURG/GIBBS

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	2,948	2,226	722
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	1,474	557	361
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	1,475	680	170
Program Facilities List (Under)/Over	1	124	-191
INVENTORY:			
Student Stations :			
Existing	1,999	823	187
Remodeling	153	117	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	2,152	940	187
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	4,304	3,760	374
2021 - 2022 Out Year CO-FTE	2,948	2,226	722
COFTE Survey Plan (Under)/Over	1,356	1,534	-348

Total UnSatisfactory Student Stations : 126

PAGE:44 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 4

Site Name: SEMINOLE CAMPUS

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	4,241	3,612	629
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	2,121	903	315
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	2,125	158	55
Program Facilities List (Under)/Over	5	-745	-260
INVENTORY:			
Student Stations :			
Existing	1,489	103	0
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	1,489	103	0
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	2,978	412	0
2021 - 2022 Out Year CO-FTE	4,241	3,612	629
COFTE Survey Plan (Under)/Over	-1,263	-3,200	-629

Total UnSatisfactory Student Stations : 126

PAGE:45 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 5

Site Name: TARPON SPRINGS CAMPU

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	2,367	2,053	314
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	1,184	513	157
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	1,350	647	63
Program Facilities List (Under)/Over	167	134	-94
INVENTORY:			
Student Stations :			
Existing	1,699	289	15
Remodeling	0	0	0
Renovation	0	0	0
Construction	411	0	0
SURVEY PLAN :			
Total Student Stations Planned	2,110	289	15
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	4,220	1,156	30
2021 - 2022 Out Year CO-FTE	2,367	2,053	314
COFTE Survey Plan (Under)/Over	1,853	-897	-284

Total UnSatisfactory Student Stations : 126

PAGE:46 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 6

Site Name: BAY PINES CENTER

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	78	48	30
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	39	12	15
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	0	0	0
Program Facilities List (Under)/Over	-39	-12	-15
INVENTORY:			
Student Stations :			
Existing	0	0	0
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	0	0	0
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	0	0	0
2021 - 2022 Out Year CO-FTE	78	48	30
COFTE Survey Plan (Under)/Over	-78	-48	-30

Total UnSatisfactory Student Stations : 126

PAGE:47 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 8

Site Name: HEALTH EDUCATION CEN

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	1,516	568	948
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	758	142	474
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	750	52	454
Program Facilities List (Under)/Over	-8	-90	-20
INVENTORY:			
Student Stations :			
Existing	496	41	336
Remodeling	300	0	175
Renovation	0	0	0
Construction	0	0	370
SURVEY PLAN :	·		
Total Student Stations Planned	796	41	881
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	1,592	164	1,762
2021 - 2022 Out Year CO-FTE	1,516	568	948
COFTE Survey Plan (Under)/Over	76	-404	814

Total UnSatisfactory Student Stations : 126

PAGE:48 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name : ST. PETERSBURG COLLEGE Date : 6/30/2017 10:12:37 AM

Site Number: 9

Site Name: ALLSTATE CENTER

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	615	191	424
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	308	48	212
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	300	0	235
Program Facilities List (Under)/Over	-8	-48	23
INVENTORY:			
Student Stations :			
Existing	335	0	309
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	335	0	309
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	670	0	618
2021 - 2022 Out Year CO-FTE	615	191	424
COFTE Survey Plan (Under)/Over	55	-191	194

Total UnSatisfactory Student Stations : 126

PAGE:49 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 15

Site Name: DOWNTOWN CENTER

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	689	559	130
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	345	140	65
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	360	106	15
Program Facilities List (Under)/Over	16	-34	-50
INVENTORY:			
Student Stations :			
Existing	749	58	15
Remodeling	0	0	0
Renovation	0	0	0
Construction	25	10	0
SURVEY PLAN :			
Total Student Stations Planned	774	68	15
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	1,548	272	30
2021 - 2022 Out Year CO-FTE	689	559	130
COFTE Survey Plan (Under)/Over	859	-287	-100

Total UnSatisfactory Student Stations : 126

PAGE:50 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 16

Site Name: MIDTOWN CENTER

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	213	171	42
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	107	43	21
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	180	167	28
Program Facilities List (Under)/Over	74	124	7
INVENTORY:			
Student Stations :			
Existing	345	42	0
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	345	42	0
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	690	168	0
2021 - 2022 Out Year CO-FTE	213	171	42
COFTE Survey Plan (Under)/Over	477	-3	-42

Total UnSatisfactory Student Stations : 126

PAGE:51 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 17

Site Name: FIRE TRAINING CENTER

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	0	0	0
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	0	0	0
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	0	0	0
Program Facilities List (Under)/Over	0	0	0
INVENTORY:			
Student Stations :			
Existing	0	0	0
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	0	0	0
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	0	0	0
2021 - 2022 Out Year CO-FTE	0	0	0
COFTE Survey Plan (Under)/Over	0	0	0

Total UnSatisfactory Student Stations : 126

PAGE:52 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF SATISFACTORY STUDENT STATIONS

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:37 AM

Site Number: 18

Site Name: VETERINARY TECHNOLOG

SPACE CATEGORY	GENERAL CLASSROOMS	NON-VOCATIONAL LABS	VOCATIONAL LABS
2021 - 2022 Out Year CO- FTE	216	42	174
Utilization Index Reciprocal	0.50	0.25	0.50
Student Stations Generated	108	11	87
Recommended Student Stations 2021 - 2022 Out Year CO-FTE	0	0	36
Program Facilities List (Under)/Over	-108	-11	-51
INVENTORY:			
Student Stations :			
Existing	0	0	38
Remodeling	0	0	0
Renovation	0	0	0
Construction	0	0	0
SURVEY PLAN :			
Total Student Stations Planned	0	0	38
Utilization Index	2	4	2
COFTE Provided For In Survey Plan	0	0	76
2021 - 2022 Out Year CO-FTE	216	42	174
COFTE Survey Plan (Under)/Over	-216	-42	-98

Total UnSatisfactory Student Stations : 126

PAGE:53 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 8: Existing Satisfactory Student Stations By Space and Facility

PAGE:54 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: EPICENTER

Site No: 1

FACILITY STUDENT STATIONS SQUARE FEET

					Class	Non-Voc				
Number	Name	Туре	Status	Condition	room	Ed	Voc Ed	TOTAL	Net	Gross
703	EPICENTER	Building	Permanent	Satisfactory	197	177	129	503	119,082	128,519
704	SERVICES	Building	Permanent	Satisfactory	0	0	0	0	48,987	51,261
705	EPI-ANNEX 2 (APPLIE	Building	Permanent	Satisfactory	0	0	0	0	39,185	41,055
706	DISTRICT OFFICE (EPI	Building	Permanent	Satisfactory	0	0	0	0	78,447	79,100
		EF	PICENTER	Totals :	197	177	129	503	285.701	299.935

Total UnSatisfactory NSF: 5,298

Total UnSatisfactory Student Stations: 126

PAGE:55 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: CLEARWATER CAMPUS

Site No: 2

	FACIL			STUDENT	STATION	ıs	SQUARE FEET			
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
31	ADMINISTRATION	Building	Permanent	Remodeling C	0	0	0	0	24,728	27,629
32	M M BENNETT LIB	Building	Permanent	Remodeling C	0	0	0	0	34,683	38,214
33	SOCIAL SCIENCE	Building	Permanent	Satisfactory	400	38	32	470	41,654	44,873
35	ETHICS AND SOCIAL SC	Building	Permanent	Satisfactory	924	17	0	941	56,120	61,611
36	LANG ARTS	Building	Permanent	Satisfactory	315	148	0	463	33,823	38,698
37	STU ACTIVITIES	Building	Permanent	Remodeling C	0	0	0	0	10,762	11,969
38	CROSSROADS (ORIG+EXT	Building	Permanent	Satisfactory	118	201	139	458	40,025	42,983
39	MAINT	Building	Permanent	Remodeling A	0	0	0	0	4,809	5,125
40	CENT UTIL	Building	Permanent	Remodeling A	0	0	0	0	7,706	9,696
42	NATURAL SCIENCE AND	Building	Permanent	Satisfactory	459	298	0	757	59,974	59,974
43	FA AUDIT	Building	Permanent	Satisfactory	0	0	0	0	15,571	16,956
44	BUSINESS TECHNOLOGIE	Building	Permanent	Remodeling C	142	0	13	155	14,216	17,453
46	TV TRANS BLDG	Building	Permanent	Satisfactory	0	0	0	0	92	124
49	COLLABORATIVE CENTER	Building	Permanent	Satisfactory	0	0	32	32	3,931	4,717
151	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	302	312
152	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	374	384
154	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	302	312
155	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	302	312
156	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	374	384
165	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	190	200
166	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	190	200
6311	CL AD ENTRY W	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	390
6341	CL TA WALK	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	2,827
6361	CL LA ENTRY E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	2,700
6371	CL SA WALK NW	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	3,516

PAGE:56 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

 $\textbf{College:} \ \, \textbf{ST.} \ \, \textbf{PETERSBURG COLLEGE}$

Survey: 2 Version: 1

Site: CLEARWATER CAMPUS

Site No: 2

	ı	FACILITY			STUDENT STATIONS SQU				SQUARE	FEET
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
6441	CL BT ENTRY E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	104
		CLEARWA	TER CAMP	US Totals :	2,358	702	216	3,276	350,128	391,663
		Tot	tal UnCation	factory NCE .	E 200					

Total UnSatisfactory NSF: 5,298

Total UnSatisfactory Student Stations: 126

PAGE:57 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: ST PETERSBURG/GIBBS

Site No: 3

	FACII	LITY				STUDENT	STATION	ıs	SQUARE FEET	
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
1	HENDRY ADMIN	Building	Permanent	Remodeling C	0	0	0	0	46,196	65,955
2	LANG ARTS	Building	Permanent	Satisfactory	400	76	0	476	24,378	26,565
3	STUDENT SERVICES	Building	Permanent	Satisfactory	0	0	0	0	37,664	44,055
4	HUMANITIES	Building	Permanent	Satisfactory	82	82	0	164	14,201	15,655
5	JOHNSTON TECH	Building	Permanent	Satisfactory	136	94	160	390	54,068	59,362
6	NAT SCI	Building	Permanent	Satisfactory	469	322	0	791	70,377	80,699
7	GYMNASIUM	Building	Permanent	Remodeling C	0	0	0	0	14,075	25,524
8	WEST ST PETE COMM LI	Building	Permanent	Satisfactory	30	0	0	30	46,691	54,320
10	MAINTENANCE	Building	Permanent	Satisfactory	0	0	0	0	6,756	7,053
11	BENJAMIN ARTS	Building	Permanent	Satisfactory	655	115	20	790	57,144	58,538
13	WELLNESS CENTER	Building	Permanent	Remodeling C	81	111	0	192	18,407	19,808
14	ETHICS INSTITUTE	Building	Permanent	Satisfactory	112	23	0	135	11,978	13,514
16	MIRA	Building	Permanent	Satisfactory	0	0	7	7	1,467	2,382
17	STORAGE - PE	Building	Temporary	Satisfactory	0	0	0	0	280	288
20	CHILLER PLANT	Building	Permanent	Satisfactory	0	0	0	0	6,925	7,587
121	PORTABLE 121	Building	Temporary	Satisfactory	34	0	0	34	2,201	2,336
129	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	185	192
130	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	230	240
131	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	350	360
132	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	170	180
504	PALLADIUM	Building	Permanent	Satisfactory	0	0	0	0	24,511	29,609
6011	SP AD MEETING ENTRY	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	481
6021	SP LA ENTRY N	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	56
6022	SP LA ENTRY NE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	86
6023	SP LA ENTRY S	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	56
6031	SP LI ENTRY E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	27

PAGE:58 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: ST PETERSBURG/GIBBS

Site No: 3

	F <i>F</i>	ACILITY				STUDENT	STATION	ıs	SQUARE FEET		
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross	
6041	SP HS ENTRY N	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	83	
6042	SP HS ENTRY S	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	83	
6043	SP HS ENTRY W	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	84	
6061	SP SC ENTRY W	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	60	
6062	SP SC ENTRY S	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	762	
6063	SP SC ENTRY E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	48	
6064	SP SC ENTRY N	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	231	
6081	SP FS ENTRY E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	111	
6082	SP FS ENTRY NE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	52	
6083	SP FS ENTRY N	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	38	
6091	SP SS WALK SW	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	1,099	
6092	SP SS WALK	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	423	
6093	SP SS WALK NE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	1,587	
6101	SP MN ENTRY W	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	60	
6121	SP SP ENTRY S	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	126	
6131	SP PE WALK	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	2,132	
6132	SP PE WALK	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	2,132	
6141	SP FA ENTRY	Covered	Permanent	Satisfactory	0	0	0	0	0	344	

Total UnSatisfactory NSF: 5,298

1,999

823

187

3,009

438,254

524,383

Total UnSatisfactory Student Stations: 126

ST PETERSBURG/GIBBS Totals:

Walkway

PAGE:59 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

STUDENT STATIONS

0

0

0

0

103

0

0

0

0

0

39

39

39

39

1.592

39

39

39

39

1,489

SQUARE FEET

964

964

964

964

213,845

1,019

1,019

1.019

1.019

247,900

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

PORTABLE 617 (703)

PORTABLE 618 (704)

PORTABLE 619 (705)

PORTABLE 620 (706)

FACILITY

Building

Building

Building

Buildina

SEMINOLE CAMPUS

Site: SEMINOLE CAMPUS

Site No: 4

617

618

619

620

Non-Voc Class Condition Number Name Type Status room Ed Voc Ed **TOTAL** Net Gross 51 **TECH LEARN CTR** Building Permanent Satisfactory 198 51 0 249 30.532 34.073 52 UNIVERSITY 711 35 0 746 77,305 88,276 Building Permanent Satisfactory **PARTNERSH CHILLER PLANT** 0 0 0 0 53 Building Permanent Satisfactory 11,406 11,685 54 SEM COMM LIBRARY Buildina Permanent Satisfactory 276 0 0 276 67.345 83.662 55 PHARMACY EDUC BLDG Building Permanent Satisfactory 108 11 0 119 8.309 8.944 56 **DENTAL BLDG-UF COD** Building Permanent Satisfactory 40 6 0 46 12,939 14,380 0 Λ 0 0 580 613 STORAGE SHED Building Satisfactory 1,019 Temporary STORAGE SHED 0 0 0 0 380 390 614 Building Satisfactory Temporary PORTABLE 615 (701) 0 0 0 329 376 615 Building Permanent Satisfactory 0 616 PORTABLE 616 (702) Building Permanent Satisfactory 0 0 0 0 864 1,019

Total UnSatisfactory NSF: 5,298

Totals:

Total UnSatisfactory Student Stations: 126

Permanent Satisfactory

Permanent Satisfactory

Permanent Satisfactory

Permanent Satisfactory

PAGE:60 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: TARPON SPRINGS CAMPU

Site No: 5

FACILITY STUDENT STATIONS **SQUARE FEET** Class Non-Voc Number Name Type Status Condition room Ed Voc Ed **TOTAL** Net Gross **NU TECH** Building Satisfactory 73 0 0 73 4.142 5.253 83 Permanent AGORA-STU SVCS 0 0 0 7,888 84 Building Permanent Remodeling C 0 8,654 85 **ALPHA** Building Remodeling C 70 0 0 70 1,741 1,897 Permanent 86 **BFTA** Building Permanent Remodeling C 93 0 0 93 2,352 2,545 Λ n 87 GAMMA 124 124 3,728 4,155 Building Permanent Satisfactory 88 0 93 0 93 7.557 **DFITA** Building Permanent Satisfactory 8,538 0 0 89 **MAINTENANCE** Building Permanent Satisfactory 0 0 5,329 5,367 PHYSICAL EDUC 0 0 0 0 2.311 2,679 90 Building Permanent Satisfactory 91 **EPSILON** Building Permanent Satisfactory 124 0 O 124 3,918 4,073 0 92 **COLLEGE OF** 159 0 159 9,089 Building Permanent Satisfactory 11,138 **EDUCATION** 0 0 0 93 ADMIN/STUDENT Building Permanent Satisfactory 0 12,402 13,374 SRVCS **LYCEUM** 275 0 0 275 94 Building Permanent Satisfactory 28.049 31,216 0 95 CHILLER PLANT Building 0 0 O 1.354 Permanent Satisfactory 1.465 96 LEEPA RATTNER Building Permanent Satisfactory 63 75 15 153 48.970 57.245 MUSEUM 97 **OLYMPIA** Building Permanent Satisfactory 616 67 0 683 135,129 147,409 **SIGMA** 102 54 0 156 7,647 99 Building Permanent Satisfactory 8.172 STORAGE SHED 0 0 403 115 Building Temporary Satisfactory 0 0 360 116 STORAGE SHED Building Satisfactory 0 0 0 0 258 275 Temporary STORAGE SHED 0 0 0 0 360 403 117 Building Satisfactory Temporary 171 STORAGE SHED Building Satisfactory 0 0 0 0 550 620 Temporary STORAGE SHED 0 0 0 0 300 350 499 Building Temporary Satisfactory 6851 TS AL WALK Covered Permanent Satisfactory 0 0 0 O 0 1,275 Walkway 6861 TS BT WALK Covered Permanent Satisfactory 0 0 0 0 0 2,363 Walkway Permanent Satisfactory TS GM WALK 0 0 0 0 0 6871 Covered 3,390 Walkway 6881 TS DL WALK Covered Permanent Satisfactory 0 0 0 0 0 3,680

PAGE:61 of 115 Report Date: 6/30/2017 10:12:29 AM

Walkway

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: TARPON SPRINGS CAMPU

Site No: 5

FACILITY STUDENT STATIONS **SQUARE FEET** Class Non-Voc Number Name Type Status Condition Ed Voc Ed **TOTAL** Net Gross room 6911 TS EP WALK Covered Permanent Satisfactory 0 0 0 0 0 4,580 Walkway **TARPON SPRINGS CAMPU Totals:** 289 15 2,003 283,434 330,519 1,699

> **Total UnSatisfactory NSF:** 5,298

Total UnSatisfactory Student Stations: 126

PAGE:62 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: HEALTH EDUCATION CEN

Site No: 8

	FAC		:	STUDENT	STATION	IS	SQUARE FEET			
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
61	CARUTH HEALTH	Building	Permanent	Remodeling C	262	0	277	539	145,600	165,594
63	MAINTENANCE ANNEX	Building	Permanent	Satisfactory	0	0	0	0	1,011	1,127
64	EAST ANNEX	Building	Permanent	Remodeling C	0	0	4	4	1,935	2,308
65	COOLING TOWER	Building	Permanent	Satisfactory	0	0	0	0	1,000	1,075
66	ORTHOTICS & PROSTHET	Building	Permanent	Satisfactory	88	13	55	156	26,330	28,529
67	SOUTH ANNEX	Building	Permanent	Remodeling C	65	28	0	93	46,905	50,138
153	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	134	144
205	NUHS PORTABLE	Building	Temporary	Satisfactory	81	0	0	81	2,273	2,336
206	PORTABLE 206	Building	Temporary	Satisfactory	0	0	0	0	917	960
265	STORAGE SHED	Building	Temporary	Satisfactory	0	0	0	0	264	280
266	PORTABLE 266	Building	Temporary	Satisfactory	0	0	0	0	907	960
268	STORAGE SHED - GROUN	Building	Temporary	Satisfactory	0	0	0	0	110	120
269	STORAGE SHED - CUSTO	Building	Temporary	Satisfactory	0	0	0	0	230	240
6611	HC HC WALK NE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	1,820
6612	HC HC WALK E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	3,424
6613	HC HC WALK SE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	630
6614	HC HC EMT PARK	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	727
6615	HC HC WALK SE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	1,048
6621	HC VT WALK E	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	2,755
	HEALTH EDUCATION CEN Totals					41	336	873	227,616	264,215

Total UnSatisfactory NSF: 5,298

Total UnSatisfactory Student Stations: 126

PAGE:63 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: ALLSTATE CENTER

Site No: 9

	FACIL	LITY				STUDENT	STATION	IS	SQUARE	FEET
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
72	PRODUCTION SUPPORT	Building	Permanent	Satisfactory	0	0	0	0	2,152	2,433
75	ALLSTATE BUILDING	Building	Permanent	Satisfactory	335	0	162	497	125,529	131,132
76	INDOOR FIRING RANGE	Building	Permanent	Satisfactory	0	0	147	147	22,280	23,677
79	FLNG	Building	Permanent	Remodeling A	0	0	0	0	7,880	8,716
173	STORAGE SHED - FIRE	Building	Temporary	Satisfactory	0	0	0	0	585	600
174	STORAGE SHED - MOTOR	Building	Temporary	Satisfactory	0	0	0	0	945	960
175	STORAGE SHED - MAINT	Building	Temporary	Satisfactory	0	0	0	0	440	450
176	PORTABLE - CJI SHOOT	Building	Temporary	Satisfactory	0	0	0	0	1,420	1,440
177	STORAGE SHED - QUONS	Building	Temporary	Satisfactory	0	0	0	0	1,251	1,271
178	PORTABLE - OBSERVATI	Building	Temporary	Satisfactory	0	0	0	0	880	897
179	STORAGE SHED - GROUN	Building	Temporary	Satisfactory	0	0	0	0	380	390
6751	AC CAFE PATIO	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	1,652
6752	AC FRONT ENTRANCE	Covered Walkway	Permanent	Satisfactory	0	0	0	0	0	936

Total UnSatisfactory NSF: 5,298

Totals:

335

309

644

163,742

174,554

Total UnSatisfactory Student Stations: 126

ALLSTATE CENTER

PAGE:64 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: DOWNTOWN CENTER

E 4 OU 17\/

Site No: 15

	FACILITY						STATION	SQUARE FEET		
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
501	DOWNTOWN CTR	Building	Permanent	Remodeling B	749	58	15	822	152,337	172,904
502	DOWNTOWN - PARKING G	Building (with parking)	Permanent	Satisfactory	0	0	0	0	114,888	115,052
		DOWNTO	WN CENTE	ER Totals :	749	58	15	822	267,225	287,956
		To	tal UnSatic	factory NSE :	5 208					

Total UnSatisfactory NSF: 5,298

Total UnSatisfactory Student Stations: 126

PAGE:65 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: MIDTOWN CENTER

Site No: 16

FACILITY					STUDENT STATIONS				SQUARE FEET	
Number	Name	Type	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
1602	MIDTOWN CENTER	Building	Permanent	Satisfactory	345	42	0	387	45,438	52,721
		MIDTO	WN CENTE	R Totals:	345	42	0	387	45,438	52,721
		To	tal UnSatis	factory NSF :	5,298					
	Tota	al UnSatisfa	actory Stud	ent Stations :	126					

PAGE:66 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: FIRE TRAINING CENTER

Site No: 17

FACILITY STUDENT STATIONS SQUARE FEET

Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
172	PORTABLE 172 OFFICES	Building	Temporary	Satisfactory	0	0	0	0	824	852
1701	BURN BUILDING	Building	Permanent	Satisfactory	0	0	0	0	2,952	3,360
1702	APPARATUS BUILDING	Building	Permanent	Satisfactory	0	0	0	0	4,352	4,536
1703	TOWER BUILDING	Building	Permanent	Satisfactory	0	0	0	0	7,730	9,076
		FIRE TRA	AINING CEI	NTER Totals :	0	0	0	0	15,858	17,824

Total UnSatisfactory NSF: 5,298

Total UnSatisfactory Student Stations: 126

PAGE:67 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

EXISTING SATISFACTORY STUDENT STATIONS AND SPACE BY FACILITY

College: ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Site: VETERINARY TECHNOLOG

Site No: 18

FACILITY					STUDENT STATIONS				SQUARE FEET	
Number	Name	Туре	Status	Condition	Class room	Non-Voc Ed	Voc Ed	TOTAL	Net	Gross
1801	VETERINARY TECHNOLOG	Building	Permanent	Satisfactory	0	0	38	38	29,456	32,514
		VETERINA	RY TECHNO	DLOG Totals :	0	0	38	38	29,456	32,514
		To	otal UnSatis	factory NSF :	5,298	}				
		Total UnSatisfa	actory Stud	ent Stations :	126	;				
	,	College	e-wide Fac	ility Totals :	9,667	2,235	1,245	13,147	2,320,697	2,624,184

PAGE:68 of 115 Report Date: 6/30/2017 10:12:29 AM

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 9: Summary of Existing And Recommended Square Footage

PAGE:69 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:44 AM

Site Number: 1 Admin Site: NO

Site Name : EPICENTER

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces :						
Classrooms	8,100	4,930	-3,170	0	0	4,930
Non-Vocational Spaces	6,760	8,804	2,044	0	0	8,804
Vocational Spaces	13,112	10,043	-3,069	0	0	10,043
Physical Education	2,880	713	-2,167	0	0	713
Subtotal	30,852	24,490	-6,362	0	0	24,490
Academic Support:						
Library	5,760	650	-5,110	0	0	650
Audiovisual	1,399	47	-1,352	0	0	47
Auditorium/Exhibition	1,728	1,039	-689	0	0	1,039
Student Services	4,320	0	-4,320	0	0	0
Subtotal	13,207	1,736	-11,471	0	0	1,736
Institutional Support:						
Office	7,200	133,474	126,274	0	0	133,474
Support Services	2,563	60,347	57,784	0	0	60,347
Custodial Services	634	874	240	0	0	874
Sanitation:						
*Student Restrooms	864	5,777	4,913	0	0	5,777
*Staff/Public Restrooms	144	940	796	0	0	940
Subtotal	11,405	201,412	190,007	0	0	201,412
*HVAC /Mech/Sanitation	3,328	20,994	17,666	0	0	20,994
Circulation	19,989	43,786	-23,797	0	0	43,786
Total Net Square Feet	78,780	292,418	254,387	0	0	292,418

Leased / Rented NSF not in Survey:

PAGE:70 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 2 Admin Site: YES

Site Name: CLEARWATER CAMPUS

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces :						
Classrooms	49,500	59,961	10,461	0	0	59,961
Non-Vocational Spaces	27,759	43,206	15,447	0	0	43,206
Vocational Spaces	13,090	11,829	-1,261	0	0	11,829
Physical Education	28,240	2,788	-25,452	0	0	2,788
Subtotal	118,589	117,784	-805	0	0	117,784
Academic Support:						
Library	41,228	26,310	-14,918	0	0	26,310
Audiovisual	4,517	1,173	-3,344	0	0	1,173
Auditorium/Exhibition	14,944	14,353	-591	0	0	14,353
Student Services	27,360	10,078	-17,282	0	0	10,078
Subtotal	88,049	51,914	-36,135	0	0	51,914
Institutional Support:						
Office	96,921	59,139	-37,782	0	0	59,139
Support Services	15,178	12,510	-2,668	0	0	12,510
Custodial Services	4,013	1,490	-2,523	0	0	1,490
Sanitation:						
*Student Restrooms	5,472	8,930	3,458	0	0	8,930
*Staff/Public Restrooms	912	1,454	542	0	0	1,454
Subtotal	122,496	83,523	-38,973	0	0	83,523
*HVAC /Mech/Sanitation	19,748	33,706	13,958	0	0	33,706
Circulation	118,620	73,585	45,035	0	0	73,585
Total Net Square Feet	467,502	360,512	-83,020	0	0	360,512

Leased / Rented NSF not in Survey: 302

PAGE:71 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 3 Admin Site: NO

Site Name: ST PETERSBURG/GIBBS

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces :						
Classrooms	41,300	51,502	10,202	0	4,145	55,647
Non-Vocational Spaces	40,464	48,143	7,679	0	8,319	56,462
Vocational Spaces	20,998	14,687	-6,311	0	0	14,687
Physical Education	24,740	14,631	-10,109	0	-6,681	7,950
Subtotal	127,502	128,963	1,461	0	5,783	134,746
Academic Support:						
Library	33,528	48,358	14,830	0	-3,989	44,369
Audiovisual	5,138	1,181	-3,957	0	1,585	2,766
Auditorium/Exhibition	12,844	18,936	6,092	0	0	18,936
Student Services	22,110	21,412	-698	0	698	22,110
Subtotal	73,620	89,887	16,267	0	-1,706	88,181
Institutional Support:						
Office	36,850	72,018	35,168	0	-11,071	60,947
Support Services	11,899	9,681	-2,218	0	3,663	13,344
Custodial Services	3,243	2,436	-807	0	-68	2,368
Sanitation:						
*Student Restrooms	4,422	11,081	6,659	0	-2,011	9,070
*Staff/Public Restrooms	737	1,804	1,067	0	-351	1,453
Subtotal	57,150	97,020	39,870	0	-9,837	87,183
*HVAC /Mech/Sanitation	15,496	40,855	25,359	0	-2,773	38,082
Circulation	93,081	93,381	-300	5,218	-1,015	97,584
Total Net Square Feet	366,850	450,106	111,161	5,218	-9,548	445,776

Leased / Rented NSF not in Survey:

PAGE:72 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 4 Admin Site: NO

Site Name : SEMINOLE CAMPUS

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces:						
Classrooms	59,500	39,257	-20,243	0	0	39,257
Non-Vocational Spaces	12,410	9,019	-3,391	0	0	9,019
Vocational Spaces	15,665	86	-15,579	0	0	86
Physical Education	31,205	0	-31,205	0	0	0
Subtotal	118,780	48,362	-70,418	0	0	48,362
Academic Support:						
Library	47,751	37,357	-10,394	0	0	37,357
Audiovisual	4,379	117	-4,262	0	0	117
Auditorium/Exhibition	16,723	9,433	-7,290	0	0	9,433
Student Services	31,808	8,004	-23,804	0	0	8,004
Subtotal	100,660	54,911	-45,749	0	0	54,911
Institutional Support:						
Office	53,013	40,428	-12,585	0	0	40,428
Support Services	13,623	12,625	-998	0	0	12,625
Custodial Services	4,665	1,761	-2,904	0	0	1,761
Sanitation:						
*Student Restrooms	6,362	5,211	-1,151	0	0	5,211
*Staff/Public Restrooms	1,060	848	-212	0	0	848
Subtotal	78,722	60,873	-17,849	0	0	60,873
*HVAC /Mech/Sanitation	17,890	23,761	5,871	0	0	23,761
Circulation	107,458	31,997	75,461	0	0	31,997
Total Net Square Feet	423,510	219,904	-171,714	0	0	219,904

Leased / Rented NSF not in Survey: 3,576

PAGE:73 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 5 Admin Site: NO

Site Name : TARPON SPRINGS CAMPU

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	INTORY DEFICIT OR CONSTRUCTI REMODEL		SURVEY RECOMMEND ED SPACE	
Instructional Spaces:						
Classrooms	37,125	44,061	6,936	11,550	0	55,611
Non-Vocational Spaces	31,860	18,061	-13,799	0	0	18,061
Vocational Spaces	7,660	2,040	-5,620	0	0	2,040
Physical Education	21,835	1,538	-20,297	0	0	1,538
Subtotal	98,480	65,700	-32,780	11,550	0	77,250
Academic Support:						
Library	27,137	11,919	-15,218	15,218	0	27,137
Audiovisual	3,832	776	-3,056	2,847	0	3,623
Auditorium/Exhibition	11,101	18,681	7,580	0	0	18,681
Student Services	17,753	19,838	2,086	0	0	19,838
Subtotal	59,823	51,214	-8,609	18,065	0	69,279
Institutional Support:						
Office	29,588	45,048	15,461	0	0	45,048
Support Services	9,395	66,238	56,843	0	0	66,238
Custodial Services	2,604	1,376	-1,228	1,228	0	2,604
Sanitation:						
*Student Restrooms	3,551	5,976	2,426	0	0	5,976
*Staff/Public Restrooms	592	973	381	0	0	973
Subtotal	45,728	119,611	73,883	1,228	0	120,839
*HVAC /Mech/Sanitation	12,242	20,233	7,991	0	0	20,233
Circulation	73,533	33,625	39,908	0	0	33,625
Total Net Square Feet	289,805	290,383	54,250	30,843	0	321,226

Leased / Rented NSF not in Survey:

PAGE:74 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 6 Admin Site: NO

Site Name : BAY PINES CENTER

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces:						
Classrooms	0	0	0	0	0	0
Non-Vocational Spaces	0	0	0	0	0	0
Vocational Spaces	0	0	0	0	0	0
Physical Education	390	0	-390	0	0	0
Subtotal	Subtotal 390 0 -390 0		0	0		
Academic Support:						
Library	780	0	-780	0	0	0
Audiovisual	0	0	0	0	0	0
Auditorium/Exhibition	234	0	-234	0	0	0
Student Services	585	0	-585	0	0	0
Subtotal	1,599	0	-1,599	0	0	0
Institutional Support:						
Office	975	0	-975	0	0	0
Support Services	148	0	-148	0	0	0
Custodial Services	86	0	-86	0	0	0
Sanitation:						
*Student Restrooms	117	0	-117	0	0	0
*Staff/Public Restrooms	20	0	-20	0	0	0
Subtotal	1,346	0	-1,346	0	0	0
*HVAC /Mech/Sanitation	200	0	-200	0	0	0
Circulation	1,202	0	1,202	0	0	0
Total Net Square Feet	4,736	0	-4,736	0	0	0

Leased / Rented NSF not in Survey :

PAGE:75 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 8 Admin Site: NO

Site Name : HEALTH EDUCATION CEN

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces:						
Classrooms	21,000	12,576	-8,424	0	8,400	20,976
Non-Vocational Spaces	4,810	5,146	336	0	0	5,146
Vocational Spaces	101,295	58,660	-42,635	62,485	15,400	136,545
Physical Education	7,580	0	-7,580	0	0	0
Subtotal	134,685	76,382	-58,303	62,485	23,800	162,667
Academic Support:						
Library	15,160	12,206	-2,954	2,954	0	15,160
Audiovisual	6,355	714	-5,641	9,963	0	10,677
Auditorium/Exhibition	4,548	3,867	-681	681	0	4,548
Student Services	11,370	8,219	-3,151	3,151	0	11,370
Subtotal	37,433	25,006	-12,427	16,749	0	41,755
Institutional Support:						
Office	18,950	31,095	12,145	0	0	31,095
Support Services	9,553	39,119	29,566	0	-23,978	15,141
Custodial Services	1,668	880	-788	788	0	1,668
Sanitation:						
*Student Restrooms	2,274	3,077	803	0	0	3,077
*Staff/Public Restrooms	379	501	122	0	0	501
Subtotal	32,824	74,672	41,848	788	-23,978	51,482
*HVAC /Mech/Sanitation	12,297	13,621	1,324	1,236	0	14,857
Circulation	73,861 41,513 32,348 31,795		0	73,308		
Total Net Square Feet	291,100	231,194	-36,927	113,053	-178	344,069

Leased / Rented NSF not in Survey:

PAGE:76 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 9 Admin Site: NO

Site Name : ALLSTATE CENTER

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces:						
Classrooms	8,250	8,584	334	0	0	8,584
Non-Vocational Spaces	0	0	0	0	0	0
Vocational Spaces	43,693	49,584	5,891	0	0	49,584
Physical Education	3,075	2,446	-629	0	0	2,446
Subtotal	55,018	60,614	5,596	0	0	60,614
Academic Support:						
Library	6,150	2,146	-4,004	0	0	2,146
Audiovisual	2,597	692	-1,905	0	0	692
Auditorium/Exhibition	1,845	0	-1,845	0	0	0
Student Services	4,613	9,742	5,130	0	0	9,742
Subtotal	15,205	12,580	-2,625	0	0	12,580
Institutional Support:						
Office	7,688	36,594	28,907	0	0	36,594
Support Services	3,896	17,350	13,454	0	0	17,350
Custodial Services	677	463	-214	0	0	463
Sanitation:						
*Student Restrooms	923	3,419	2,496	0	0	3,419
*Staff/Public Restrooms	154	557	403	0	0	557
Subtotal	13,336	58,382	45,046	0	0	58,382
*HVAC /Mech/Sanitation	5,014	11,096	6,082	0	0	11,096
Circulation	30,114	25,045	5,069	0	0	25,045
Total Net Square Feet	118,686	167,717	72,494	0	0	167,717

Leased / Rented NSF not in Survey:

PAGE:77 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 15 Admin Site: NO

Site Name: DOWNTOWN CENTER

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces:						
Classrooms	10,500	18,720	8,220	700	0	19,420
Non-Vocational Spaces	7,535	3,887	-3,648	550	0	4,437
Vocational Spaces	1,570	938	-632	0	0	938
Physical Education	3,445	554	-2,891	0	0	554
Subtotal	23,050	24,099	1,049	1,250	0	25,349
Academic Support:						
Library	6,890	3,983	-2,907	2,907	0	6,890
Audiovisual	980	0	-980	1,175	0	1,175
Auditorium/Exhibition	2,067	10,741	8,674	0	0	10,741
Student Services	5,168	5,755	588	0	0	5,755
Subtotal	15,105	20,479	5,374	4,082	0	24,561
Institutional Support:						
Office	8,613	22,389	13,777	0	0	22,389
Support Services	2,338	137,174	134,836	0	0	137,174
Custodial Services	758	775	17	0	0	775
Sanitation:						
*Student Restrooms	1,034	3,458	2,425	0	0	3,458
*Staff/Public Restrooms	172	563	391	0	0	563
Subtotal	12,915	164,359	151,444	0	0	164,359
*HVAC /Mech/Sanitation	3,064	15,688	12,624	0	0	15,688
Circulation	18,405	46,621	-28,216	0	0	46,621
Total Net Square Feet	72,539	271,246	228,459	5,332	0	276,578

Leased / Rented NSF not in Survey:

PAGE:78 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 16 Admin Site: NO

Site Name : MIDTOWN CENTER

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces:						
Classrooms	5,175	8,603	3,428	0	0	8,603
Non-Vocational Spaces	11,385	2,727	-8,658	0	0	2,727
Vocational Spaces	3,014	0	-3,014	0	0	0
Physical Education	1,065	0	-1,065	0	0	0
Subtotal	20,639	11,330	-9,309	0	0	11,330
Academic Support:						
Library	2,130	5,433	3,303	0	0	5,433
Audiovisual	979	0	-979	0	0	0
Auditorium/Exhibition	639	0	-639	0	0	0
Student Services	1,598	2,202	605	0	0	2,202
Subtotal	5,345	7,635	2,290	0	0	7,635
Institutional Support:						
Office	2,663	8,703	6,041	0	0	8,703
Support Services	1,432	1,254	-178	0	0	1,254
Custodial Services	234	445	211	0	0	445
Sanitation:						
*Student Restrooms	320	0	-320	0	0	0
*Staff/Public Restrooms	53	0	-53	0	0	0
Subtotal	4,702	10,402	5,700	0	0	10,402
*HVAC /Mech/Sanitation	1,841	4,371	2,530	0	0	4,371
Circulation	11,059	11,700	-641	0	0	11,700
Total Net Square Feet	43,587	45,438	1,622	0	0	45,438

Leased / Rented NSF not in Survey: 22,400

PAGE:79 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 17 Admin Site: NO

Site Name: FIRE TRAINING CENTER

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces :						
Classrooms	0	0	0	0	0	0
Non-Vocational Spaces	0	0	0	0	0	0
Vocational Spaces	0	10,957	10,957	0	0	10,957
Physical Education	0	0	0	0	0	0
Subtotal	0	10,957	10,957	0	0	10,957
Academic Support:						
Library	0	0	0	0	0	0
Audiovisual	0	0	0	0	0	0
Auditorium/Exhibition	0	0	0	0	0	0
Student Services	0	0	0	0	0	0
Subtotal	0	0	0	0	0	0
Institutional Support:						
Office	0	824	824	0	0	824
Support Services	0	0	0	0	0	0
Custodial Services	0	0	0	0	0	0
Sanitation:						
*Student Restrooms	0	287	287	0	0	287
*Staff/Public Restrooms	0	47	47	0	0	47
Subtotal	0	1,158	1,158	0	0	1,158
*HVAC /Mech/Sanitation	0	1,160	1,160	0	0	1,160
Circulation	0	2,917	-2,917	0	0	2,917
Total Net Square Feet	0	16,192	17,789	0	0	16,192

Leased / Rented NSF not in Survey: 2,546

PAGE:80 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

SUMMARY OF EXISTING AND RECOMMENDED SQUARE FOOTAGE

Survey: 2 Version: 1

College Name: ST. PETERSBURG COLLEGE Date: 6/30/2017 10:12:45 AM

Site Number: 18 Admin Site: NO

Site Name: VETERINARY TECHNOLOG

SPACE CATEGORY	2021 - 2022 SPACE ALLOCATION	EXISTING INVENTORY SPACE	SPACE DEFICIT OR SURPLUS	CONSTRUCTI ON NSF	REMODEL NSF	SURVEY RECOMMEND ED SPACE
Instructional Spaces :						
Classrooms	0	0	0	0	0	0
Non-Vocational Spaces	0	0	0	0	0	0
Vocational Spaces	14,505	12,522	-1,983	0	0	12,522
Physical Education	1,080	0	-1,080	0	0	0
Subtotal	15,585	12,522	-3,063	0	0	12,522
Academic Support:						
Library	2,160	592	-1,568	0	0	592
Audiovisual	725	0	-725	0	0	0
Auditorium/Exhibition	648	0	-648	0	0	0
Student Services	1,620	0	-1,620	0	0	0
Subtotal	5,153	592	-4,561	0	0	592
Institutional Support:						
Office	2,700	5,941	3,241	0	0	5,941
Support Services	1,172	642	-530	0	0	642
Custodial Services	238	254	16	0	0	254
Sanitation:						
*Student Restrooms	324	732	408	0	0	732
*Staff/Public Restrooms	54	119	65	0	0	119
Subtotal	4,488	7,688	3,200	0	0	7,688
*HVAC /Mech/Sanitation	1,514	3,695	2,181	0	0	3,695
Circulation	9,091 5,810 3,281 0		0	5,810		
Total Net Square Feet	35,831	30,307	-3,005	0	0	30,307

Leased / Rented NSF not in Survey :

Total NSF for all Sites: 1,776,257

Leased / Rented NSF not in Survey: 28,824

PAGE:81 of 115 Report Date: 6/30/2017 10:12:29 AM

^{*:} In College Surveys, New Construction for Restroom space is included in HVAC/Mech/Sanitation.

College:

Survey:

Status:

23-ST. PETERSBURG COLLEGE

Survey: 2 Version: 1

Active Approved

Section 10: Facility Lists

PAGE:82 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

92

3,990

72

27,972

140

556

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

EPICENTER

Site: EPICENTER

Vocational FTE: 185

Site No: 1 Stations Allowed Current Stations

 Classroom FTE: 576
 288
 98

 Non-Voc FTE: 391
 97
 128

SQ/FT **Stations** SQ/FT Per **Total SQ** Per Total Per Space **Foot** Stations **ICS Code** Description Station **Space Spaces** 45 7 4.410 1.15.05XXX **Business & Management** 14 630 98 Storage, Material 100 7 700 0 14 730 5,110 98 45 3 1.16.07XXX Computer & Information Systems 10 450 1,350 30 Storage, Material 100 3 300 0 550 6 1,650 30 1.25.02XXX Business Data Processing 14 63 882 8 7.056 112 Classroom, Related Instruct. 525 8 4,200 0 Storage, Material 100 8 800 0 1,507 24 12,056 112 1.26.25XXX **Engineering Related Technology** 27 378 2 756 28 14 Storage, Material 150 2 300 0 528 4 1,056 28 1.XX.XXXXX Classroom 24 25 600 12 7,200 288 900 Storage, Material 75 12 0 675 24 8,100 288

Totals:

PAGE:83 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: CLEARWATER CAMPUS

Site No: 2 Stations Allowed Current Stations

 Classroom FTE: 3,648
 1,824
 14

 Non-Voc FTE: 2,761
 690
 479

 Vocational FTE: 887
 443
 130

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.26.13XXX	Drafting & Design Technology	14	76	1,064	1	1,064	14
	Reproduction			200	1	200	0
	Storage, Material			250	1	250	0
	Storage, Project		_	200	1	200	0
				1,714	4	1,714	14
1.26.25XXX	Engineering Related Technology	14	27	378	2	756	28
	Storage, Material		_	150	2	300	0
				528	4	1,056	28
1.26.1010X Roofing	Roofing	10	85	850	1	850	10
	Classroom, Related Instruct.			525	1	525	0
	Drying			500	1	500	0
	Storage, Flammable			400	1	400	0
	Storage, Material			400	1	400	0
	Storage, Tool			400	1	400	0
			_	3,075	6	3,075	10
1.26.15XXX	Electronics	10	76_	760	4	3,040	40
				760	4	3,040	40
1.XX.XXXXX	Classroom	30	25	750	60	45,000	1,800
	Storage, Material		_	75	60	4,500	0
				825	120	49,500	1,800
1.11.04XXX	Biological Sciences	15	55	825	2	1,650	30
	Storage, Material			150	2	300	0
	Storage, Project		_	275	2	550	0
			_	1,250	6	2,500	30
1.12.1002X	Art	15	50	750	4	3,000	60
	Kiln			60	4	240	0
	Storage, Material			100	4	400	0

PAGE:84 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: CLEARWATER CAMPUS

Site No: 2 Stations Allowed Current Stations

 Classroom FTE: 3,648
 1,824
 14

 Non-Voc FTE: 2,761
 690
 479

 Vocational FTE: 887
 443
 130

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	Storage, Material		_	200	4	800	0
			_	1,110	16	4,440	60
1.12.10XXX	Other Arts	15	40	600	1	600	15
	Storage, Material		_	100	1	100	0
				700	2	700	15
1.14.08XXX	Education	15	45	675	1	675	15
	Storage, Material		_	100	1	100	0
•				775	2	775	15
1.16.17XXX	Mathematics	25	25	625	1	625	25
	Storage, Material		_	75	1	75	0
			_	700	2	700	25
1.17.20XXX	Psychology	24	55	1,320	1	1,320	24
	Storage, Material			150	1	150	0
	Storage, Project		_	200	1	200	0
				1,670	3	1,670	24
1.31.1XXXX	Adult General & Preparatory	24	47	1,128	3	3,384	72
	Conference			300	3	900	0
	Storage, Material			300	3	900	0
	Testing		_	150	3	450	0
				1,878	12	5,634	72
1.25.02XXX	Business Data Processing	24	63	1,512	1	1,512	24
	Classroom,Related Instruct.			525	1	525	0
	Storage, Material		_	100	1	100	0
				2,137	3	2,137	24
1.27.0205X	Legal Assisting	14	62	868	1	868	14
	Storage, Material			300	1	300	0

PAGE:85 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: CLEARWATER CAMPUS

Site No: 2 Stations Allowed Current Stations

 Classroom FTE: 3,648
 1,824
 14

 Non-Voc FTE: 2,761
 690
 479

 Vocational FTE: 887
 443
 130

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	Technical Laboratory		_	900	1	900	0
				2,068	3	2,068	14
1.11.0202X	Architecture	14	55 _	770	2	1,540	28
				770	2	1,540	28
1.11.0401X	Biology, General	14	55	770	1	770	14
			-	770	1	770	14
1.11.0411X	Microbiology	14	55	770	1	770	14
			-	770	1	770	14
1.11.0412X	Anatomy	14	55	770	1	770	14
			-	770	1	770	14
1.11.0418X	Marine Biology	14	55	770	1	770	14
			_	770	1	770	14
1.11.1902X	Physics, General	14	55	770	1	770	14
			_	770	1	770	14
1.11.1905X	Chemistry, General	14	55	770	2	1,540	28
			_	770	2	1,540	28
1.11.1907X	Organic Chemistry	14	55 _	770	1	770	14
				770	1	770	14
1.11.1917X	Earth Sciences, General	14	55	770	2	1,540	28
			_	770	2	1,540	28
1.12.1009X	Applied Design	14	50	700	1	700	14
	-		_	700	1	700	14

PAGE:86 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

PROGRAM FACILITES LIST

14

OUT Year: 5 - 6 College: ST. PETERSBURG COLLEGE

Version: 1 Survey: 2

Site: CLEARWATER CAMPUS

Site No: 2 **Stations Allowed Current Stations**

1,824 Classroom FTE: 3,648 Non-Voc FTE: 2,761 690 479

Vocational FTE: 887 130 443

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.13.1501X	English, General	14	25	350	4	1,400	56
			_	350	4	1,400	56
	CI FARWATER CAMPII	S Totals :		27.170	204	90.349	2.409

PAGE:87 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

361

170

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: ST PETERSBURG/GIBBS

Vocational FTE: 722

Site No: 3 Stations Allowed Current Stations

 Classroom FTE: 2,948
 1,474
 1,475

 Non-Voc FTE: 2,226
 556
 680

SQ/FT **Stations** SQ/FT Per **Total SQ** Total Per Per Space Station **Space Foot** Stations **ICS Code** Description **Spaces** 1.XX.XXXXX Classroom 25 25 625 59 36.875 1.475 Storage, Material 75 59 4.425 0 700 118 41,300 1,475 **Biological Sciences** 1.11.04XXX 24 55 1,320 3 3,960 72 Storage, Material 150 3 450 0 275 3 825 0 Storage, Project 9 1,745 5,235 72 1.11.19XXX **Physical Sciences** 24 55 1,320 2 2.640 48 2 300 0 Storage, Material 150 Storage, Project 200 2 400 0 1,670 6 3,340 48 1.12.10041 Music(Choral or Band) 25 35 875 2 1.750 50 Ensemble 300 2 600 0 Practice, Music 3@60sf 180 2 360 0 Reference 150 2 300 0 2 800 0 Storage, Instrument 400 2 0 Storage, Robe 60 120 Storage, Uniform 60 2 120 0 2,025 14 4,050 50 1.12.10042 Piano 25 50 1,250 1 1,250 25 1 0 Practice, Music 2@60sf 120 120 Storage, Material 100 100 0 1 1,470 3 1,470 25 25 3 75 1.13.15XXX Letters 25 625 1,875 225 Storage, Material 75 3 0 700 6 2,100 75 1.16.17XXX Mathematics 25 25 625 2 1,250 50

PAGE:88 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: ST PETERSBURG/GIBBS

Site No: 3 Stations Allowed Current Stations

 Classroom FTE: 2,948
 1,474
 1,475

 Non-Voc FTE: 2,226
 556
 680

 Vocational FTE: 722
 361
 170

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	Storage, Material			75	2	150	0
				700	4	1,400	50
1.31.1XXXX	Adult General & Preparatory	2	47	94	5	470	10
	Conference			300	5	1,500	0
	Storage, Material			300	5	1,500	0
	Testing		_	150	5	750	0
			_	844	20	4,220	10
1.32.3XXXX	Adult General & Preparatory	7	47	329	1	329	7
	Conference			600	1	600	0
	Storage, Material			500	1	500	0
	Storage, Material			900	1	900	0
			_	2,329	4	2,329	7
1.26.1505X	Electromechanical Technology	25	115	2,875	2	5,750	50
	Electronics Equipment			1,300	2	2,600	0
	Storage, Equipment			1,300	2	2,600	0
	Storage, Machinery			1,100	2	2,200	0
	Storage, Project			200	2	400	0
	Storage, Tool		_	250	2	500	0
				7,025	12	14,050	50
1.11.0411X	Microbiology	14	55 _	770	1	770	14
				770	1	770	14
1.11.0412X	Anatomy	14	55	770	3	2,310	42
				770	3	2,310	42
1.11.1902X	Physics, General	14	55	770	1	770	14
			_	770	1	770	14
1.11.1905X	Chemistry, General	14	55	770	2	1,540	28

PAGE:89 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

1,474

1,475

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: ST PETERSBURG/GIBBS

Classroom FTE: 2,948

Site No: 3 Stations Allowed Current Stations

Non-Voc FTE: 2,226 556 680

Vocational FTE: 722 361 170

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	·	•	_	770	2	1,540	28
1.11.1907X	Organic Chemistry	14	55	770	1	770	14
			-	770	1	770	14
1.11.1909X	Analytical Chemistry	14	55	770	1	770	14
			_	770	1	770	14
1.11.1917X	Earth Sciences, General	14	55	770	1	770	14
			-	770	1	770	14
1.12.1004X	Music (Performing, Composition, Theory)	14	40	560	2	1,120	28
			_	560	2	1,120	28
1.12.1008X	Dance	25	40	1,000	3	3,000	75
			_	1,000	3	3,000	75
1.14.0801X	Education, General	25	45	1,125	4	4,500	100
			-	1,125	4	4,500	100
1.24.0102X	Child Development	14	52	728	1	728	14
			_	728	1	728	14
1.25.0203X	Programmers	14	63	882	2	1,764	28
	•		-	882	2	1,764	28
1.25.0302X	File Clerks	10	52	520	4	2,080	40
			-	520	4	2,080	40
1.26.1501X	Communications	14	57	798	2	1,596	28
			-· <u>-</u>	798	2	1,596	28
1.27.1101X	Music	10	78	780	1	780	10

PAGE:90 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: ST PETERSBURG/GIBBS

Classroom FTE: 2,948

Site No: 3 Stations Allowed Current Stations

Non-Voc FTE: 2,226 556 680

Vocational FTE: 722 361 170

SQ/FT **Total SQ Stations** SQ/FT Per Total Per **ICS Code** Per Space **Stations** Description **Station Space Spaces** Foot 780 780 10

ST PETERSBURG/GIBBS Totals: 30,991 225 102,762 2,325

1,474

1,475

PAGE:91 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: SEMINOLE CAMPUS

Site No: 4 Stations Allowed Current Stations

 Classroom FTE: 4,241
 2,120
 2,125

 Non-Voc FTE: 3,612
 903
 158

Vocational FTE: 629 314 55

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.XX.XXXXX	Classroom	25	25	625	85	53,125	2,125
	Storage, Material		_	75	85	6,375	0
				700	170	59,500	2,125
1.11.19XXX	Physical Sciences	15	55	825	4	3,300	60
	Storage, Material			150	4	600	0
	Storage, Project		_	200	4	800	0
				1,175	12	4,700	60
1.16.07XXX	Computer & Information Systems	25	45	1,125	1	1,125	25
	Storage, Material		_	100	11	100	0
				1,225	2	1,225	25
1.18.21XXX	Public Affairs	25	25	625	1	625	25
	Storage, Material		_	75	1	75	0
				700	2	700	25
1.19.XXXXX	General Degree Transfer	10	25	250	1	250	10
	Storage, Material		_	75	1	75	0
				325	2	325	10
1.31.1XXXX	Adult General & Preparatory	5	47	235	1	235	5
	Conference			300	1	300	0
	Storage, Material			300	1	300	0
	Testing		_	150	1	150	0
				985	4	985	5
1.32.3XXXX	Adult General & Preparatory	5	47	235	1	235	5
	Conference			600	1	600	0
	Storage, Material			500	1	500	0
	Storage, Material		_	900	1	900	0
				2,235	4	2,235	5

PAGE:92 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: SEMINOLE CAMPUS

Site No: 4 Stations Allowed Current Stations

 Classroom FTE: 4,241
 2,120
 2,125

 Non-Voc FTE: 3,612
 903
 158

Vocational FTE: 629 314 55

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.26.19XXX	Printing & Grpahic Arts	20	142	2,840	2	5,680	40
	Camera Processing			110	2	220	0
	Classroom,Related Instruct.			525	2	1,050	0
	Darkroom			200	2	400	0
	Graphincs Production			600	2	1,200	0
	Layout			225	2	450	0
			-	4,500	12	9,000	40
1.27.02XXX	Law Enforcement	15	96	1,440	1	1,440	15
	Arms Storage			200	1	200	0
	Classroom,Related Instruct.			525	1	525	0
	Darkroom			350	1	350	0
	Firiing Range			2,400	1	2,400	0
	Lockers, Showers, & Toilets - Student			700	1	700	0
	Photography Lab			500	1	500	0
	Reference			250	1	250	0
	Storage, Material		_	300	1	300	0
			-	6,665	9	6,665	15
1.11.1211X	Pharmacy	14	80	1,120	1	1,120	14
			-	1,120	1	1,120	14
1.11.1224X	Dental Technologies	14	80_	1,120	1	1,120	14
			-	1,120	1	1,120	14
	SEMINOLE CAMPUS	Totals :		20,750	219	87,575	2,338

PAGE:93 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: TARPON SPRINGS CAMPU

Site No: 5 Stations Allowed Current Stations

 Classroom FTE: 2,367
 1,183
 1,350

 Non-Voc FTE: 2,053
 513
 647

Vocational FTE: 314 157 63

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.XX.XXXXX	Classroom	30	25	750	45	33,750	1,350
	Storage, Material			75	45	3,375	0
	0 /		_	825	90	37,125	1,350
1.11.19XXX	Physical Sciences	25	55	1,375	2	2,750	50
	Storage, Material			150	2	300	0
	Storage, Project		_	200	2	400	0
			_	1,725	6	3,450	50
1.12.10042	Piano	15	50	750	2	1,500	30
	Practice, Music 2@60sf			120	2	240	0
	Storage, Material		_	100	2	200	0
				970	6	1,940	30
1.12.10XXX	Other Arts	25	40	1,000	3	3,000	75
	Storage, Material		_	100	3	300	0
				1,100	6	3,300	75
1.13.11XXX	Foreign Languages	25	40	1,000	1	1,000	25
	Storage, Material		_	100	1	100	0
				1,100	2	1,100	25
1.13.15XXX	Letters	25	25	625	2	1,250	50
	Storage, Material		_	75	2	150	0
				700	4	1,400	50
1.14.08XXX	Education	20	45	900	2	1,800	40
	Storage, Material		_	100	2	200	0
			_	1,000	4	2,000	40
1.15.05XXX	Business & Management	25	45	1,125	1	1,125	25
	Storage, Material		_	100	1	100	0
				1,225	2	1,225	25

PAGE:94 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: TARPON SPRINGS CAMPU

Site No: 5 Stations Allowed Current Stations

 Classroom FTE: 2,367
 1,183
 1,350

 Non-Voc FTE: 2,053
 513
 647

Vocational FTE: 314 157 63

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.16.17XXX	Mathematics	25	25	625	2	1,250	50
	Storage, Material			75	2	150	0
			_	700	4	1,400	50
1.18.14XXX	Law	15	25	375	1	375	15
	Storage, Material		_	75	11	75	0
				450	2	450	15
1.19.XXXXX	General Degree Transfer	25	25	625	2	1,250	50
	Storage, Material		_	75	2	150	0
				700	4	1,400	50
1.32.3XXXX	Adult General & Preparatory	15	47	705	1	705	15
	Conference			600	1	600	0
	Storage, Material			500	1	500	0
	Storage, Material		_	900	11	900	0
				2,705	4	2,705	15
1.23.09031	Respiratory Therapist	24	80	1,920	2	3,840	48
	Classroom, Related Instruct.			525	2	1,050	0
	Maintenance			200	2	400	0
	Storage, Material		_	400	2	800	0
				3,045	8	6,090	48
1.25.02XXX	Business Data Processing	15	63	945	1	945	15
	Classroom, Related Instruct.			525	1	525	0
	Storage, Material		_	100	11	100	0
				1,570	3	1,570	15
1.11.0401X	Biology, General	25	55 _	1,375	2	2,750	50
				1,375	2	2,750	50
1.11.0412X	Anatomy	25	55	1,375	1	1,375	25

PAGE:95 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: TARPON SPRINGS CAMPU

Site No: 5 Stations Allowed Current Stations

 Classroom FTE: 2,367
 1,183
 1,350

 Non-Voc FTE: 2,053
 513
 647

Vocational FTE: 314 157 63

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
				1,375	1	1,375	25
1.11.1901X	Physical Sciences, General	25	55	1,375	2	2,750	50
			_	1,375	2	2,750	50
1.11.1905X	Chemistry, General	25	55 _	1,375	1	1,375	25
			_	1,375	1	1,375	25
1.14.0801X	Education, General	24	45	1,080	3	3,240	72
			_	1,080	3	3,240	72
	TARPON SPRINGS CA	AMPU Totals :		24,395	154	76,645	2,060

PAGE:96 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: HEALTH EDUCATION CEN

Site No: 8 Stations Allowed Current Stations

 Classroom FTE: 1,516
 758
 750

 Non-Voc FTE: 568
 142
 52

Vocational FTE: 948 474 454

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.XX.XXXXX	Classroom	25	25	625	30	18,750	750
	Storage, Material			75	30	2,250	0
			_	700	60	21,000	750
1.11.12XXX	Health Professions	14	80	1,120	3	3,360	42
	Storage, Material			100	3	300	0
	Storage, Project			200	3	600	0
			_	1,420	9	4,260	42
1.23.0101X	Dental Assisting	12	71	852	2	1,704	24
	Classroom, Related Instruct.			525	2	1,050	0
	Darkroom			75	2	150	0
	Lockers, Showers, & Toilets - Faculty			120	2	240	0
	Lockers, Showers, & Toilets - Student			225	2	450	0
	Operations			350	2	700	0
	Reception			200	2	400	0
	Storage, Material			150	2	300	0
	Toilet, Patient			135	2	270	0
	X-ray		_	135	2	270	0
			_	2,767	20	5,534	24
1.23.0102X	Dental Hygiene	14	95	1,330	2	2,660	28
	Classroom, Related Instruct.			525	2	1,050	0
	Darkroom			75	2	150	0
	Lockers, Showers, & Toilets - Faculty			120	2	240	0
	Lockers, Showers, & Toilets - Student			225	2	450	0
	Operations			350	2	700	0
	Reception			200	2	400	0
	Storage, Material			150	2	300	0
	Toilet, Patient			75	2	150	0

PAGE:97 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: HEALTH EDUCATION CEN

Site No: 8 Stations Allowed Current Stations

 Classroom FTE: 1,516
 758
 750

 Non-Voc FTE: 568
 142
 52

Vocational FTE: 948 474 454

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	X-ray	-		135	2	270	0
	·		_	3,185	20	6,370	28
1.23.0907X	Emergency Medical Tech.	14	88	1,232	3	3,696	42
	Classroom, Related Instruct.			525	3	1,575	C
	Storage, Material			500	3	1,500	C
	Telemetry Operations		_	1,000	3	3,000	C
				3,257	12	9,771	42
1.23.0909X	Funeral Services	10	160	1,600	1	1,600	10
	Lockers, Showers, & Toilets - Student			225	1	225	0
	Multi-Purpose Room			1,200	1	1,200	0
	Preparation			1,200	1	1,200	O
	Prop Production & Storage			600	1	600	C
	Restoration			800	1	800	0
	Storage, Material			300	1	300	0
	Teaching Auditorium		_	800	1	800	0
				6,725	8	6,725	10
1.23.0301X	Nursing (RN)	10	158	1,580	14	22,120	140
	Classroom, Related Instruct.			525	14	7,350	0
	Locker, Faculty			90	14	1,260	0
	Locker, Student			350	14	4,900	0
	Reference			350	14	4,900	0
	Storage, Material		_	400	14	5,600	0
				3,295	84	46,130	140
1.23.04021	Physical Therapy Assistant	10	80	800	2	1,600	20
	Hydrotherapy			550	2	1,100	0
	Lockers, Showers, & Toilets - Faculty			120	2	240	0
	Lockers, Showers, & Toilets - Student			225	2	450	0
	Storage, Material			250	2	500	0

PAGE:98 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

PROGRAM FACILITES LIST

758

750

OUT Year: 5 - 6 College: ST. PETERSBURG COLLEGE

Version: 1 Survey: 2

Site: HEALTH EDUCATION CEN

Site No: 8 **Stations Allowed Current Stations**

Classroom FTE: 1,516 Non-Voc FTE: 568 142 52

Vocational FTE: 948 474 454

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	Toilet, Patient			75	2	150	0
			_	2,020	12	4,040	20
1.23.0502X	Radiation Therapy Technician	10	80	800	1	800	10
	Classroom, Related Instruct.			525	1	525	0
	Darkroom			350	1	350	0
	Storage, Material			500	1	500	0
	Technical Laboratory		_	900	1	900	0
				3,075	5	3,075	10
1.23.09032	Respiratory Therapy Technician	15	95	1,425	3	4,275	45
	Classroom, Related Instruct.			525	3	1,575	0
	Maintenance			200	3	600	0
	Storage, Material		_	400	3	1,200	0
			_	2,550	12	7,650	45
1.11.0412X	Anatomy	10	55 _	550	1	550	10
				550	1	550	10
1.23.0402X	Physical Therapy	15	80_	1,200	2	2,400	30
			_	1,200	2	2,400	30
1.23.0403X	Prosthetics	15	80_	1,200	1	1,200	15
			_	1,200	1	1,200	15
1.23.0404X	Orthotics	15	80_	1,200	1	1,200	15
				1,200	1	1,200	15
1.23.05XXX	Radiologic	15	80_	1,200	1	1,200	15
				1,200	1	1,200	15
1.23.09XXX	Miscellaneous Health Education	25	88 _	2,200	2	4,400	50
			_	2,200	2	4,400	50

PAGE:99 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

PROGRAM FACILITES LIST

758

750

OUT Year: 5 - 6 College: ST. PETERSBURG COLLEGE

Version: 1 Survey: 2

Site: HEALTH EDUCATION CEN

Site No: 8 **Stations Allowed Current Stations**

Classroom FTE: 1,516 Non-Voc FTE: 568 142 52

Vocational FTE: 948 474 454

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.23.09090	Funeral Services	10	160	1,600	1	1,600	10
			-	1,600	1	1,600	10
	HEALTH EDUCAT	TION CEN Totals :		38,144	251	127,105	1,256

PAGE:100 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: ALLSTATE CENTER

Site No: 9 Stations Allowed Current Stations

 Classroom FTE: 615
 307
 300

 Non-Voc FTE: 191
 47
 0

Vocational FTE: 424 212 235

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.XX.XXXXX	Classroom	30	25	750	10	7,500	300
	Storage, Material			75	10	750	0
	•		_	825	20	8,250	300
1.27.02013	Crimianl Justice Assisting	15	96	1,440	3	4,320	45
	Classroom, Related Instruct.			525	3	1,575	0
	Darkroom			200	3	600	0
	Photography Lab			150	3	450	0
	Storage, Material		_	200	3	600	0
				2,515	15	7,545	45
1.27.02012	Criminal Justice Technology	13	80	1,040	4	4,160	52
	Classroom, Related Instruct.			525	4	2,100	0
	Courtroom			550	4	2,200	0
	Darkroom			350	4	1,400	0
	Photography Lab			500	4	2,000	0
	Reference			250	4	1,000	0
	Technical Laboratory		_	900	4	3,600	0
				4,115	28	16,460	52
1.27.01XXX	Fire Science Technology	30	100	3,000	1	3,000	30
	Classroom, Related Instruct.			525	1	525	0
	Storage, Flammable			70	1	70	0
	Storage, Material		_	500	11	500	0
				4,095	4	4,095	30
1.27.02XXX	Law Enforcement	18	96	1,728	1	1,728	18
	Arms Storage			200	1	200	0
	Classroom, Related Instruct.			525	1	525	0
	Darkroom			350	1	350	0
	Firiing Range			2,400	1	2,400	0
	Lockers, Showers, & Toilets - Student			700	1	700	0
	Photography Lab			500	1	500	0

PAGE:101 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: ALLSTATE CENTER

Site No: 9 Stations Allowed Current Stations

 Classroom FTE: 615
 307
 300

 Non-Voc FTE: 191
 47
 0

Vocational FTE: 424 212 235

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	Reference			250	1	250	0
	Storage, Material		_	300	1	300	0
				6,953	9	6,953	18
1.27.0201X	Law Enforcement, General	15	96 _	1,440	6	8,640	90
			_	1,440	6	8,640	90
	ALLSTATE CENTER	Totals :		19,943	82	51,943	535

PAGE:102 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: DOWNTOWN CENTER

Site No: 15 Stations Allowed Current Stations

 Classroom FTE: 689
 344
 360

 Non-Voc FTE: 559
 139
 106

 Vocational FTE: 130
 65
 15

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.XX.XXXXX	Classroom	18	25	450	20	9,000	360
	Storage, Material			75	20	1,500	0
			-	525	40	10,500	360
1.11.04XXX	Biological Sciences	24	55	1,320	1	1,320	24
	Storage, Material			150	1	150	0
	Storage, Project		_	275	1	275	0
				1,745	3	1,745	24
1.11.19XXX	Physical Sciences	24	55	1,320	2	2,640	48
	Storage, Material			150	2	300	0
	Storage, Project		_	200	2	400	0
				1,670	6	3,340	48
1.12.1002X	Art	10	50	500	2	1,000	20
	Kiln			60	2	120	0
	Storage, Material			100	2	200	0
	Storage, Material		_	200	2	400	0
				860	8	1,720	20
1.16.07XXX	Computer & Information Systems	14	45	630	1	630	14
	Storage, Material		_	100	1	100	0
				730	2	730	14
1.25.02XXX	Business Data Processing	15	63	945	1	945	15
	Classroom, Related Instruct.			525	1	525	0
	Storage, Material		_	100	1	100	0
				1,570	3	1,570	15
	DOWNTOWN CENTER	R Totals :		7,100	62	19,605	481

PAGE:103 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: MIDTOWN CENTER

Site No: 16 Stations Allowed Current Stations

 Classroom FTE: 213
 106
 180

 Non-Voc FTE: 171
 42
 167

 Vocational FTE: 42
 21
 28

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.XX.XXXXX	Classroom	20	25	500	9	4,500	180
	Storage, Material		_	75	9	675	0
			_	575	18	5,175	180
1.11.04XXX	Biological Sciences	13	55	715	1	715	13
	Storage, Material			150	1	150	0
	Storage, Project		_	275	1	275	0
				1,140	3	1,140	13
1.11.12XXX	Health Professions	20	80	1,600	1	1,600	20
	Storage, Material			100	1	100	0
	Storage, Project			200	1	200	0
				1,900	3	1,900	20
1.11.19XXX	Physical Sciences	24	55	1,320	1	1,320	24
	Storage, Material			150	1	150	0
	Storage, Project		_	200	1	200	0
				1,670	3	1,670	24
1.12.10XXX	Other Arts	14	40	560	1	560	14
	Storage, Material		_	100	1	100	0
				660	2	660	14
1.13.15XXX	Letters	24	25	600	1	600	24
	Storage, Material		_	75	1	75	0
			_	675	2	675	24
1.14.08XXX	Education	14	45	630	1	630	14
	Storage, Material			100	1	100	0
			_	730	2	730	14
1.16.17XXX	Mathematics	24	25	600	1	600	24

PAGE:104 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: MIDTOWN CENTER

Site No: 16 Stations Allowed Current Stations

 Classroom FTE: 213
 106
 180

 Non-Voc FTE: 171
 42
 167

 Vocational FTE: 42
 21
 28

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
	Storage, Material			75	1	75	0
			_	675	2	675	24
1.17.22XXX	Social Science	14	55	770	1	770	14
	Storage, Material			200	1	200	0
	Storage, Project		_	175	1	175	0
				1,145	3	1,145	14
1.32.1XXXX	Adult General & Preparatory	20	47	940	1	940	20
	Conference			600	1	600	0
	Storage, Material			350	1	350	0
	Testing		_	900	1	900	0
				2,790	4	2,790	20
1.25.02XXX	Business Data Processing	14	63	882	2	1,764	28
	Classroom,Related Instruct.			525	2	1,050	0
	Storage, Material		_	100	2	200	0
			-	1,507	6	3,014	28
	MIDTOWN CENTER	Totals :		13,467	48	19,574	375

PAGE:105 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

PROGRAM FACILITES LIST

College: ST. PETERSBURG COLLEGE OUT Year: 5 - 6

Survey: 2 Version: 1

Site: VETERINARY TECHNOLOG

Site No: 18 Stations Allowed Current Stations
Classroom FTE: 216 108 36

Non-Voc FTE: 42 10 0

Vocational FTE: 174 87 36

ICS Code	Description	Stations Per Space	SQ/FT Per Station	SQ/FT Per Space	Spaces	Total SQ Foot	Total Stations
1.23.0912X	Veterinary Technology	12	100	1,200	3	3,600	36
	Animal shelter			1,000	3	3,000	0
	Classroom,Related Instruct.			525	3	1,575	0
	Darkroom			200	3	600	0
	Isolation			50	3	150	0
	Lockers, Showers, & Toilets - Faculty			120	3	360	0
	Lockers, Showers, & Toilets - Student			225	3	675	0
	Scrub Area			100	3	300	0
	Sterilization			80	3	240	0
	Surgical Operations			1,200	3	3,600	0
	X-ray			135	3	405	0
			-	4,835	33	14,505	36
	VETERINARY TECHNO	LOG Totals :		4,835	33	14,505	36
	Re	eport Totals :		190,785	1,350	618,035	12,371

PAGE:106 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

Section 11: Recommendation Details

PAGE:107 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey: 2 Version: 1 Active Approved

COLLEGE WIDE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATED COST
SR.01	Correct deficiencies relating to safety to life, health, and sanitation as identified in the comprehensive Safety Inspection Report pursuant to §4.4(1) and §5(1) SREF.	350,000
SR.02	Necessary modifications for the physically disabled in existing buildings recommended for continued use as provided for in §255.21 F.S.	300,000
SR.03	Replacement of roofs at existing facilities as provided in §1.2(55) SREF and §423.12 Florida Building Code.	5,000,000
SR.04	Replace or purchase of equipment for existing facilities pursuant to §1.2(55) SREF.	2,000,000
SR.05	Provide for sanitation facilities for students, staff, and the public pursuant to §5(1) SREF and §423.2 Florida Building Code.	0
SR.06	Provide for custodial facilities pursuant to §423.20 Florida Building Code.	0
	Total :	7,650,000

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION		ESTIMATE D COST
1.001	Upgrade lock systems to provide lockdown capabilities in all classrooms.		90,000
1.002	Renovate all site lighting		300,000
1.003	Renovate HVAC systems for entire site, including controls		150,000
1.004	Renovate electrical and data distribution system for entire site		75,000
1.005	Renovate signage for entire site		75,000
1.006	Site improvements, provide paved parking,		250,000
	EPICENTER	Total :	940,000
	Total Estima	ted Cost : _	940,000

PAGE:108 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
2.001	Renovate electrical and data distribution system for entire site.	400,000
2.002	Renovate storm sewer system for entire site	500,000
2.003	Renovate sanitary sewer system for entire site	400,000
2.004	Renovate security and emergency systems for entire site	250,000
2.005	Renovate existing irrigation system for entire site	150,000
2.006	Renovate signage for entire site	250,000
2.007	Renovate site parking areas	500,000
2.008	Renovate domestic waterlines	500,000
2.009	Renovate all site lighting	100,000
2.010	Renovate HVAC sytems for entire site, including controls	1,000,000
	CLEARWATER CAMPUS Total	4,050,000
	Total Estimated Cost :	4,050,000

COMMUNITY COLLEGE RECOMMENDATION DETAIL REPORT

Site 3

No:

Site Name: ST PETERSBURG/GIBBS

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
3.001	Replace roof at the Palladium	110,000
3.002	Repaint interior of the Palladium theatre	400,000
3.003	Install gate at each parking entrance at the Palladium	15,000
3.004	Renovate site lighting	200,000
3.005	Renovate chilled water system for entire site, including controls	960,000
3.006	Renovate electrical and data distribution system for entire site	850,000
3.007	Renovate security and emergency systems for entire site	175,000
3.008	Renovate irrigation system for entire site	25,000
3.009	Renovate signage for entire site	100,000
3.010	Renovate site parking areas	150,000
3.011	Renovate electrical, data, audio and other general infrastructure upgrades and enhancements at the Palladium	500,000
3.012	Renovate parking area at the Palladium	150,000

PAGE:109 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SITE RECOMMENDATIONS

NUMBER	R DESCRIPTION	ESTIMATE D COST
3.013	Renovate HVAC at the Palladium	250,000

ST PETERSBURG/GIBBS Total: 3,885,000

NEW CONSTRUCTION / REMODEL / RENOVATE

NEW CONSTRUCTION / REMODEL / RENOVATE						
NUMBER	DESCRIPTION	ESTIMATED COST				
3.014	New Construction: Adding Circulation (5218 NSF)	2,000,970				
3.015	Remodeling Building Number - 7, Building Name - GYMNASIUM : Adding Classrooms (81 SS), (2325 NSF), (3302 GSF); Non-Vocational Labs (111 SS), (4440 NSF), (6307 GSF); Dance (4440 NSF, 111 SSC), Classroom (2325 NSF, 81 SSC) and Removing (0 SS), (14075 NSF) Room 0100 (1472 NSF), Room 0100A (41 NSF), Room 0100B (143 NSF), Room 0100C (137 NSF), Room 0100D (120 NSF), Room 0100E (120 NSF), Room 0101 (89 NSF), Room 0102 (120 NSF), Room 0102B (300 NSF), Room 0102C (87 NSF), Room 0102D (86 NSF), Room 0102E (30 NSF), Room 0103 (296 NSF), Room 0103A (132 NSF), Room 0103B (92 NSF), Room 0103C (95 NSF), Room 0103D (902 NSF), Room 0103E (146 NSF), Room 0104 (134 NSF), Room 0104A (92 NSF), Room 0104B (54 NSF), Room 0105 (240 NSF), Room 0105A (225 NSF), Room 0105B (103 NSF), Room 0105C (30 NSF), Room 0105D (5 NSF), Room 0105E (26 NSF), Room 0106 (200 NSF), Room 0107 (93 NSF), Room 0108 (952 NSF), Room 0108A (55 NSF), Room 0109 (93 NSF), Room 0110 (140 NSF), Room 0111 (140 NSF), Room 0111A (140 NSF), Room 0112C (119 NSF), Room 0112D (40 NSF), Room 0113D (40 NSF), Room 0113B (216 NSF), Room 0113C (128 NSF), Room 0113D (40 NSF), Room 0113E (264 NSF), Room 0114 (4436 NSF), Room 0114A (205 NSF), Room 0114B (178 NSF)	1,900,125				
3.016	Remodeling Building Number - 11, Building Name - BENJAMIN ARTS : Adding Classrooms (72 SS), (2025 NSF), (2876 GSF); Non-Vocational Labs (44 SS), (4818 NSF), (6843 GSF); Circulation (2000 NSF), (2841 GSF); Classroom (2025 NSF, 72 SSC), Preparation for the GED Test (3128 NSF, 24 SSC), College Prepatory (1690 NSF, 20 SSC), Circulation (2000 NSF) and Removing (38 SS), (8720 NSF) Room 0102 (210 NSF), Room 0103 (99 NSF), Room 0104 (108 NSF), Room 0105 (81 NSF), Room 0106 (118 NSF), Room 0107 (99 NSF), Room 0108 (498 NSF), Room 0109 (99 NSF), Room 0111 (939 NSF), Room 0111A (53 NSF), Room 0111B (152 NSF), Room 0121 (202 NSF), Room 01214 (207 NSF), Room 0122 (204 NSF), Room 0124 (108 NSF), Room 0125 (111 NSF), Room 0126 (523 NSF), Room 0127 (83 NSF), Room 0128 (2200 NSF), Room 0129 (168 NSF), Room 0130 (312 NSF), Room 0131 (171 NSF), Room 0133 (661 NSF), Room 0135 (654 NSF), Room 0137 (660 NSF)	1,193,805				
3.017	Remodeling Building Number - 5, Building Name - JOHNSTON TECH : Adding AudioVisual (1585 NSF), (2251 GSF); Student Services (698 NSF), (991 GSF); Support Services (3663 NSF), (5203 GSF); Support Services (3663 NSF), Student Services (698 NSF), Audiovisual (1585 NSF) and Removing (0 SS), (5946 NSF) Room 0100 (704 NSF), Room 0101 (656 NSF), Room 0101A (28 NSF), Room 0102 (704 NSF), Room 0103 (640 NSF), Room 0104 (703 NSF), Room 0106 (703 NSF), Room 0128 (897 NSF), Room 0130 (911 NSF)	802,710				
	ST PETERSBURG/GIBBS Total :	5,897,610				
	ST PETERSBURG/GIBBS Total Estimated Cost :	9,782,610				

PAGE:110 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
4.001	Renovate HVAC systems for entire site, to include controls to Tracer ES. Replace failed campus hot water loop. Install heat recovery chiller.	725,000
4.002	Renovate signage for entire site	10,000
4.003	Renovate site parking areas	100,000
4.004	Renovate and extend the Wetlands Habitat Trail	300,000
4.005	Renovate site lighting, renovate electrical data distribution system for entire site. Installation of backup generator power for main MDF room located at the TL building.	150,000
	SEMINOLE CAMPUS Total :	1,285,000
	Total Estimated Cost :	1,285,000

COMMUNITY COLLEGE RECOMMENDATION DETAIL REPORT

Site 5

No:

Site Name: TARPON SPRINGS CAMPU

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
5.001	Replacement of metal roof on Agora building.	55,000
5.002	Replacement for half of the Bilirakis Building roof (50,000 sf)	1,000,000
5.003	Renovate site lighting	150,000
5.004	Renovate HVAC systems for entire site, complete phase II of chiller plant upgrade by replacing 23 year old chiller and converting to VPF plant.	1,000,000
5.005	Renovate electrical and data distribution system for entire site	75,000
5.006	Renovate security and emergency systems for entire site	300,000
5.007	Renovate irrigation system for entire site	50,000
5.008	Site improvements to include interior and exterior paint, ceilings, lighting, flooring as well as renovation of site parking areas.	1,000,000
5.009	Renovate signage for entire site	75,000
	TARPON SPRINGS CAMPU Total :	3,705,000

NEW CONSTRUCTION / REMODEL / RENOVATE

NUMBER	DESCRIPTION	ESTIMATED COST
5.010	New Construction: Adding Classrooms (411 SS), (11550 NSF), (16406 GSF); Classroom (11550 NSF), Custodial (1228 NSF), Library / Study (15218 NSF), Audiovisual (2847 NSF)	11,828,430
	TARPON SPRINGS CAMPU Total:	11,828,430
	TARPON SPRINGS CAMPUTotal Estimated Cost:	15,533,430

PAGE:111 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SITE RECOMMENDATIONS

NUMBER DESCRIPTION ESTIMATE D COST

6.001 Renovate site infrastructure 500,000

BAY PINES CENTER Total: 500,000

Total Estimated Cost: 500,000

PAGE:112 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

COMMUNITY COLLEGE RECOMMENDATION DETAIL REPORT

Site 8

No:

Site Name: HEALTH EDUCATION CEN

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION		ESTIMATE D COST
8.001	Renovate site lighting		200,000
8.002	Renovate HVAC systems for entire site, including controls		140,000
8.003	Renovate security and emergency systems for entire site		150,000
8.004	Renovate signage for entire site		10,000
8.005	Renovate site parking areas		750,000
8.006	Renovate HEC Annex upper floors		2,500,000
8.007	Renovate storm sewer system		500,000
8.008	Renovate sanitary sewer system		500,000
8.009	Renovate roof		2,000,000
		HEALTH EDUCATION CEN Total :	6,750,000

NEW CONSTRUCTION / REMODEL / RENOVATE

NUMBER	DESCRIPTION	ESTIMATED COST
8.010	New Construction: Adding Vocational Labs (160 SS), (28710 NSF), (40780 GSF); Nursing (RN) (28710 NSF), Library / Study (1454 NSF), Auditorium / Exhibition (681 NSF), Audiovisual (9963 NSF)	15,650,010
8.011	New Construction: Adding Vocational Labs (210 SS), (33775 NSF), (47975 GSF); Respiratory Therapy Tech. (4450 NSF), Physical Therapy Assistant (4020 NSF), Radiation Therapy Tech. (5075 NSF), Funeral Services (10725 NSF), Emergency Medical Tech. (5105 NSF), Dental Assisting (4400 NSF), Circulation (31795 NSF), Mechanical / Sanitation (1236 NSF), Custodial (788 NSF), Library / Study (1500 NSF), Student Services (3151 NSF)	27,706,320
8.012	Remodeling Building Number - 67, Building Name - SOUTH ANNEX : Adding Classrooms (300 SS), (8400 NSF), (11931 GSF); Vocational Labs (175 SS), (15400 NSF), (21874 GSF); Support Services (12022 NSF), (17076 GSF); Classroom (8400 NSF, 300 SSC), Miscellaneous Health Education (15400 NSF, 175 SSC), Support Services (12022 NSF) and Removing (0 SS), (36000 NSF) Room 0200 (12000 NSF), Room 0300 (12000 NSF), Room 0400 (12000 NSF)	4,860,000
	HEALTH EDUCATION CEN Total:	48,216,330
	HEALTH EDUCATION CENTotal Estimated Cost :	54,966,330

PAGE:113 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
9.001	Renovate HVAC for entire site.	1,500,000
9.002	Dispose of portable and add modular building for driving range area.	250,000
9.003	Renovate Florida room of Allstate building to retrofit for technology, electrical, HVAC systems, add stage and provide ADA access with lift to stage.	400,000
9.004	Renovate electrical and data distribution system for entire site	350,000
9.005	Renovate irrigation system for entire site	50,000
9.006	Renovate signage for entire site	10,000
9.007	Renovate/replace skid pad and driving track	75,000
9.008	Renovate parking areas	75,000
9.009	Renovate Roof	275,000
	ALLSTATE CENTER Total :	2,985,000
	Total Estimated Cost :	2,985,000

COMMUNITY COLLEGE RECOMMENDATION DETAIL REPORT

Site 15

No:

Site Name: DOWNTOWN CENTER

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
15.001	Renovate signage for entire site	200,000
15.002	Renovate site parking areas in the parking garage and renovate garage infrastructure and complete restoration.	250,000
	DOWNTOWN CENTER Total	I : 450,000

NEW CONSTRUCTION / REMODEL / RENOVATE

	NEW GONOTHOOTION, REMODEL, RENOVATE	
NUMBER	DESCRIPTION	ESTIMATED COST
15.003	New Construction: Adding Classrooms (25 SS), (700 NSF), (994 GSF); Non-Vocational Labs (10 SS), (550 NSF), (781 GSF); Classroom (700 NSF), Computer & Information Systems (550 NSF), Library / Study (2907 NSF), Audiovisual (1175 NSF)	2,044,710
15.004	Renovating Building Number - 501, Building Name - DOWNTOWN CTR (0 SS), (1029 NSF) Apply Painting, Floor Cover, Electrical, Plumbing, Lighting, Retrofit for Technology, Other to Room 0100 (1029 NSF) Renovation Description: Update area to accommodate for advising and career counseling.	92,610
	Update area to accomodate for advising and career counseling.	
	DOWNTOWN CENTER Total	: 2,137,320
	DOWNTOWN CENTER Total Estimated Cost	: 2,587,320

PAGE:114 of 115 Report Date: 6/30/2017 10:12:29 AM

College: Survey: Status:

23-ST. PETERSBURG COLLEGE Survey : 2 Version : 1 Active Approved

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
16.001	Repave parking areas where tree roots have lifted asphalt. Seal and stripe parking lot.	50,000
16.002	Renovate HVAC & controls at the Keene Center and Community Center	400,000
16.003	Renovate site lighting	20,000
16.004	Renovate signage	5,000
16.005	Renovate security	30,000
	MIDTOWN CENTER Total	505,000
	Total Estimated Cost :	505,000

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
17.001	Dispose of three portables and add three modular buildings to include 1 office and two classroom buildings.	500,000
	FIRE TRAINING CENTER Total :	500,000
	Total Estimated Cost :	500,000

SITE RECOMMENDATIONS

NUMBER	DESCRIPTION	ESTIMATE D COST
18.001	Renovate signage for entire site	10,000
18.002	Renovate parking area	150,000
18.003	Renovate retention pond	30,000
	VETERINARY TECHNOLOG Total	190,000
	Total Estimated Cost :	190,000

PAGE:115 of 115 Report Date: 6/30/2017 10:12:29 AM